UGC NET 2022 COMMERCE 008

Topic:- 11_GP_SH1_S1_A

D The following table presents the percentage (%) distribution of production of various models
of Laptop (A-F) manufactured by a company over two consecutive years in 2019 and 2020.
The total number of Laptops produced in 2019 was 35 lakh and in 2020, it was 44 lakhs.
Based on the data in the table. answer the questions:

Year-wise Percentage Distribution of Production of Laptops

Year Laptop Model (in %)

A|B|¢c|D| E]|F
2019 | 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

fafefas arfeem # 39 2019 A=n 2020 ¥ g7 @ER 991 § fH FE grn ABiiE Fuemn # fafie aiee
(AF) % 391 % oo =1 ufqse fem o 81 2d 2019 727 =9 2020 # fafdq swefdi & e g=n
FWE: 35 v@ 741 44 W0F 2| GO0 ° {30 T 3RSl & 39T 9T 99 o I el

9T & ITed Taamm 1 a9 gn gfaeE

o 92T Hige (%)

A|B|C|D|E]|F
2019 | 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

Total number of Laptops of models A, B and E produced in 2019 was :
(1) 24.50 lakh (2) 22.75lakh

(3) 21.00 lakh (4) 19.25lakh

g 2019 # A A, B 991 E uigel 9wl dvei &1 ge de@n o

(1 24.50 g (2) 2277561

=

(3) 21.00 «frd (4) 18.256m4E

[Question ID = 11596][Question Description = 101_00_General_47_0CT22_Q01]
1. 1 [Option ID = 16381]
2. 2 [Option ID = 16382]
3. 3 [Option ID = 16383]
4. 4 [Option ID = 16384]
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) The following table presents the percentage (%) distribution of production of various models

of Laptop (A-F) manufactured by a company over two consecutive years in 2019 and 2020,
The total number of Laptops produced in 2019 was 35 lakh and in 2020, it was 44 lakhs.
Based on the data in the table. answer the questions:

Year-wise Percentage Distribution of Production of Laptops

Year Laptop Model (in %)

A|B|lc|D|E|F
2019 | 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

fpferfige mfers © =4 2019 A2 2020 @ &1 &R @91 ° fet s gr e duem 5 fafim wiea
(A-F) % 3o % famon a1 wfder o 21 2019 war ad 2020 H Fife Sweit 41 %o e
S 35 0 A41 44 emd 2| Jrll § fou e sieEl % 30un w3 A

92T o ITEA TeAT =R CERGIE ‘Iﬁ‘l’gll—'f

aH 9219 Hige (% H)

A | B C | D | E F
2019 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

What is the ratio of number of Model-F Laptops produced in 2019 to the number of Model-C
Laptops produced in 20207

(1) 33 : 59 (2) 35:66
(3) 37:61 (4) 31:65

a4 2019 4 fAfda giza-F ageim 1 sen aw ad 2020 4 Hids wiga-C £ wen & @ s5quE 27

(1) 33: 59 (2)y B35:66
(3) 37:61 (4) 31:65

[Question ID = 11597][Question Description = 102_00_General_47_0CT22_Q02]
1. 1 [Option ID = 16385]
2. 2 [Option ID = 16386]
3. 3 [Option ID = 16387]
4. 4 [Option ID = 16388]

3) The following table presents the percentage (%) distribution of production of various models

of Laptop (A-F) manufactured by a company over two consecutive years in 2019 and 2020.
The total number of Laptops produced in 2019 was 35 lakh and in 2020, it was 44 lakhs.
Based on the data in the table. answer the questions:

Year-wise Percentage Distribution of Production of Laptops

Year Laptop Model (in %)

A B c D E F
2019 | 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%




Frerferfae afersrr o = 2019 &2 2020 U 21 SEE G997 § fAl 9 2 [ duei 5 Bfie aiee
(A-F) & 309 & famm =1 wlaem fear o 21 ad 2019 72 a9 2020 # ffdq dwef 6 o 9=
FHY: 35 ©Rg 9971 44 i 2| gnvfl ° fev e sfiwmEl % HIuT 9 9 % 39 e

e & 3edTed T =1 a9 gn afdsE

aH 92T Hige (%)

A | B C | D|E F
2019 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

What was the difference in the number of Model-B Laptops produced in 2019 and 20207

(1) 3.65 1akh 2y 2.70lakh
(3) 2.25lakh (4) 1.751akh

g4 2019 A = 2020 § fdA 9fza B A9l & HE0 % #4930 2y
(1) 3.55 M= (2) 2.70+r4
(3 2259 4 L175nd

[Question ID = 11598][Question Description = 103_00_General_47_0CT22_Q03]
1. 1 [Option ID = 16389]
2. 2 [Option ID = 16390]
3. 3 [Option ID = 16391]
4. 4 [Option ID = 16392]

4 s = ? i
) The following table presents the percentage (%) distribution of production of various models

of Laptop (A-F) manufactured by a company over two consecutive years in 2019 and 2020.
The total number of Laptops produced in 2019 was 35 lakh and i 2020, it was 44 lakhs.

Based on the data in the table. answer the questions:

Year-wise Percentage Distribution of Production of Laptops

Year Laptop Model (in %)

A|B|c|D|E|F
2019 | 30% | 15% | 20% | 10% | 156% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

freaferfaa arfererr 3 99 2019 791 2020 o 1 SEE 997 ° HET 9T g [AhiE dven & e aieen
(A-F) = 309med % faer = ufqse fean o 2) 99 2019 27 &9 2020 | Fidq siveid) 1 & gen
HHI: 35 oing 7491 44 = 2| v § T5u 0 sTEEl o T 9 9 % 39 S|

UL % IFITEA Taam = 9% 9 giaeE

an ATETT Hige (% H)

A | B c | b E F
2019 | 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%




If the percentage production of Model-A Laptops in 2020 was same as that in 2019, then the
number of Model-A Laptops produced in 2020 would have been :

(1) 14.0 Lakh (2) 13.2 Lakh
(3) 11.7 Lakh (4) 10.5Lakh

a9 2020 H Wigd-A S92 % I 1 wfawa 9@ Far 51 99 2019 1 71, @ 94 2020 # Fhia aiga-

(1) 14.0 =g (Z) 13.2+vm4
(3) 11.7 =rg 4y 10.5&M=F

[Question ID = 11599][Question Description = 104_00_General_47_0CT22_Q04]
1. 1 [Option ID = 16393]
2. 2 [Option ID = 16394]
3. 3 [Option ID = 16395]
4. 4 [Option ID = 16396]
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) The following table presents the percentage (%) distribution of production of various models

of Laptop (A-F) manufactured by a company over two consecutive years in 2019 and 2020.
The total number of Laptops produced in 2019 was 35 lakh and in 2020, it was 44 lakhs.

Based on the data in the table. answer the questions:

Year-wise Percentage Distribution of Production of Laptops

Year Laptop Model (in %)

A|B|lc|D|E|F
2019 | 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

frerferfiga aifeent § a4 2019 7201 2020 § =1 &F0aR a9] 8 et 9 g Tl el & i afza
(A-F) % 37Imed & faemm = wiaem fean man 21 ad 2019 72 ad 2020 # Fiig swefd 6 &6 F=n
FHY: 35 ©Rg 9971 44 E 2| grvfl ° feu T siwEl % HIYW W v % I e

92T & 3edTEd faamm =1 99 gn ufqsE

aH 92T Hige (% H)

A | B C | D|E F
2019 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

If 90% of the Model-D Laptops produced in each year were sold by the company. then how
many Model-D Laptops remained unsold?

(1) 76500 (2) 93500

(3) 79000 {4) 87000

afe o A wfd = Ffa 90% Hiew-D s9eml w1 == fem w1, 71 fohee wige-D e @ fas 47
(1) 76500 (2) 93500
(3) 79000 (4) 87000

[Question ID = 11600][Question Description = 105_00_General_47_0CT22_Q05]
1. 1 [Option ID = 16397]
2. 2 [Option ID = 16398]
3. 3 [Option ID = 16399]
4. 4 [Option ID = 16400]



Topic:- 11_GP_SH1_S1_B

1) A drawing that charts the relationships among 1deas is known as

(1) Divergent thinking (2) Concept map
(3 Episodic memory (4) Embodied cognition
AF SREA o We & A HE S w90 A96 A A HECATT & |
(1) srErd fammr (2T ) (2) Hueam uElEE (a2 i)
(3)  wEmeEER Wi (vfEites ) (4) Hferfem s (geisz HHeA)

[Question ID = 11601][Question Description = 106_00_General_47_0CT22_Q06]
1. 1 [Option ID = 16401]
2. 2 [Option ID = 16402]
3. 3 [Option ID = 16403]
4. 4 [Option ID = 16404]

2 . ) .
) Cyelical phases/subproceszses of self regulated learning model by Zimmerman operate as

(A) Task Analysis

(B) Self-motivation beliefs
() Self-control

(D)  Self-observation

(E)  Self- Judgement

(F)  Self Reaction

Choose the correct answer from the options given below :

(1) (A (B). (C), (D), (E). (F)
@ A (©C), (E) B) D). (F)
(8 (B (E) (F). (A). (C). (D)
4 (B). (C). (D). (A). (E). (F)



ooty g wiemifea sren fafaius sfem & @ =)/ afwm F ¥ 4 e Fvd/
el 2

(&) e Tazemm
(B) E-wfam fHawEm
(C) e Fgam

(D) s

(E) rew favi

(F) =g ufdfen
Fi=1 few o fraedi § 8 wd 3 @ e Hife .

(1) (A B). (C). (D), (E). (F)
(2) (A). (C). (E). (B). (. (F)
(3) (B (E). (F). (A (C). (D)
@ (B (C). (D). (A), (E). (F)

[Question ID = 11602][Question Description = 107_00_General_47_0CT22_Q07]
1. 1 [Option ID = 16405]
2. 2 [Option ID = 16406]
3. 3 [Option ID = 16407]
4. 4 [Option ID = 16408]

3)  @Given below are two statements :

Statement (I) :  Extrinsically motivated students are driven by rewards and praize.

Statement (II) : Intrinsically motivated students engage with a subject for the personal

satisfaction it brings,

In the light of the above statements, choose the correet answer from the options given

below :

(1) Both Statement (I) and Statement (IT) are true
(2) Both Statement (I) and Statement (IT) are false
(3) Statement (I) 1= true but Statement (IT) 12 false

(4) Statement (I) 1s false but Statement (II) 1s true



FA (D) afafAfeg wfiia faenedi wesm g wism & Farfeg @@ 3
%o (I0) : Faua it faenedf vy foefi fava o gom 12d @ o1 34 Jufoes Hafe
vy &l 2

I FH & qeies 8, i fau mu faeedi § 8 wd 3w & e i

(1)

(2)

(3)

(4)

FyA (I) 31 (1D 21 779 &
HY (I) 37 (1D 21 3197 2
FoA (D) B 2, wifa %o (I0) 307 2

& (T) 915 2, o4 %494 (ID) 949 2

[Question ID = 11603][Question Description = 108_00_General_47_0CT22_Q08]
1. 1 [Option ID = 16409]
2. 2 [Option ID = 16410]
3. 3 [Option ID = 16411]
4. 4 [Option ID = 16412]

4)

Identify the tools for sharved viewing of vizual and other interactive content within real time

environments,

(A) Virtual whiteboard
(By Slide showing

(C) Polling

(D)  Quizzing

(E) Avatars

Chooge the most appropriate answer from the options given below :

(1)
(2)
(3)
(4)

(A). (B). (C). (D) only
(A), (B). (D). (E) only
(A). (C), (D). (E) only
(B). (C). (D). (E) only



areerfus Tites 4 9va aw 3= A=A TvgeE & HiEn whaelEa 2q el 6 geEE fifae

(A)

AT T 9eE (A ETEe dre)

(B) TE’TT:E fearn

(©
(D)

(E)

e fgu s fse 8 | waH 3w I R =99 Rifa

(1
(2)
(3)

(4

gaaF (9ifer)

gy

AN

Fad (A), (B), (C). (D)

Fae (A). (B). (D), (E)

&4 (A). (C). (D). (E)

F4e (B). (C), (D), (E)

[Question ID = 11604][Question Description = 109_00_General_47_0CT22_Q09]
1. 1 [Option ID = 16413]
2. 2 [Option ID = 16414]
3. 3 [Option ID = 16415]
4. 4 [Option ID = 16416]

5) Match List T with List IT

(&)
(B)
(&)
(D)

ListI

Bizz's Presage-Process-Performance
model of learning

Learning Qutcome

Learning Focused Activities
Student Characteristics

Teaching Context

(I
(ID)
(I1T)
awv

List I

Factors

Prior KEnowledge

Satisfaction. Affective involvement
Ongolng approach to learning
Assessment

Choose the correct answer from the options given below:

1)
(2)
(3)
(4)

(A)-(TV). (B)(II). (C)-(III). (D)-(I)
(A)-(D). (B)-(IV). (C)-(I1). (D)-(IIT)
(A)-(ID), (B)-(ILL). (C)-(D). (D)-(IV)
(A)-(IID), (B)-(D), (C)«IV), (D)-(II)



Hi-1 & =12 g1 =1 fuerm difam

(A)
(B)
(€
(D)

I AT

fan &l wfem wfen & qEias -gfwmn- FE

Foare wfge

ifera e M e I

siftrmd g e (I) ddfe, g sauffadda
ferenedi e (IIT) stferms a1 wrferd a9mmm
Heam Hed (IV) g=ara-

4= feu mo faaedi 0 B 98 I & 99 Eifau

(8Y)
(2)
(3
4)

(A)-(IV), (B)-(ID), (C)-(11I), (D)-(I)
(A)-(I). (B)-(IV). (C)-(ID). (D)-(1IT)
(A)-(II). (B)-(IID). (C)-(D. (D)-(AV)
(A)-(IID), (B)-(D). (C)AIV). (D)-(ID)

[Question ID = 11605][Question Description = 110_00_General_47_0CT22_Q10]
1. 1 [Option ID = 16417]
2. 2 [Option ID = 16418]
3. 3 [Option ID = 16419]

4. 410

6)

ption ID = 16420]
Match List I with List IT
ListI
(Research Methodology)
(A) Source criticism (D
(B) Positivism (1)
(C) Interpretiviam (I1I)
(D) Post- Positivism (IV)

ListII

(Approaches/Beliefs)

The observer is the part of what is
being ohserved
Reality
certainty

cannot be known with

The process of evaluating the gualities
of origin of information

Human interests are irrelevant

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(IT). (C)-(I1T). (D)-IV)
(2) (A)-AD. (B)-(D). (C)-(IV), (D)-(IID)
(3) (A)-(III). (B)-(IV), (C)-(D), (D)-(IT)
(4) (A)-(IV). (B)-(IID). (C)-(II), (D)-(D)



HA-T & w1 HH1-11 =1 faerm ifam

HHI-I 111
(s =7 fafe) (3UTTH / 50T
(A) Hid A=A (@ Uk fohd 31 T8 Q&1 o1 Uk W AT A
(B) Urd&TETE dn) ardfaEs w1 ArETmEs 5 Jmow.
Hedl 7 |
(©) Fef=ame (D) §= 1 % Femy ol Torare a1 eaiee wiaan
(D) TTHE-UAALETE (IV) wrdra fea smwfrs 2|

=t feu mmu famedi 4 8 9l I =4 Fifa

(1) (A)-@D. (B)-(I). (C)-(II), (D)-IV)
2) (A)-(ID, (B)-(I). (C)-(IV), (D)-(11T)
(3) (A)-(II). (B)-(IV). (C)-(D). (D)-(ID)
(4)  (A)-OV). (B)III). (C)-(I), (D)D)

[Question ID = 11606][Question Description = 111_00_General_47_0CT22_Q11]
1. 1 [Option ID = 16421]
2. 2 [Option ID = 16422]
3. 3 [Option ID = 16423]
4. 4 [Option ID = 16424]

7)
Which of the following represent the Quantitative Research methodology?

(A)  One to One Interview
(B) Survey research

(C)  Focus groups

(D) Correlation research

(E) Descriptive research

Choose the correct answer from the options given helow :

(1) (A). (D). (E) Only
(2)  (B), D), (E) Only
(3)  (B). (C). (D) Only
4)  (C). (D). (E) Only



Trferfiga d 4 s afmwmars siy ol 6 vefsia s 20
(A) YRIH HIEHN

(B) Hd&ml Y

(C) 5-HyE

(D) H& HeY My

(B)  =vHTeHE 1%

44 fau mu fasedi 10 & 9dl 39 & =299 Fifau .

(1 #=d (A). D). (E)

(2) %= (B), (D). (E)

(3) %44 (B). (C), (D)

(4 %44 (C). (D). (E)
[Question ID = 11607][Question Description = 112_00_General_47_0CT22_Q12]
1. 1 [Option ID = 16425]
2. 2 [Option ID = 16426]

3. 3 [Option ID = 16427]
4. 4 [Option ID = 16428]

8) Relics such as fingerprints are considered credible by which of the following Research
methodology?
(1) Experimental (2) Quantitative
(3) Historical (4) Descriptive
fefeafiga & fam sy frenfafy O Sifern % fronm 38 s o favesd a3 27
(1)  wErTEE (2) HEEE
(3)  UfETHS (4) TS

[Question ID = 11608][Question Description = 113_00_General_47_0CT22_Q13]
1. 1 [Option ID = 16429]
2. 2 [Option ID = 16430]
3. 3 [Option ID = 16431]
4. 4 [Option ID = 16432]

9) Which of the following referencing style is used for research in the field of Business. History
and Arts?
(1) APA style (2) MLA stvle
(3) Chicago style (4) IEEE style

freferfiad o & =9 = T2 Sl () =Eam, sfem s & & a9 § 99 % 6w A 2 v

(1)  APA drft (2)  MLA st
(3)  ferwr e (4) IEEE 9=

[Question ID = 11609][Question Description = 114_00_General_47_0CT22_Q14]
1. 1 [Option ID = 16433]
2. 2 [Option ID = 16434]
3. 3 [Option ID = 16435]
4. 4 [Option ID = 16436]



10) Given below are two statements :
Statement (I) :  While developing a ‘consent form’ an explanation of the purpose of the
study. the reason for the selection of the participants should be exphicit.

Statement (II) : However. there 1s no need to give a description of any potential risks to the
participants.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement (I) and Statement (II) are true

(2] Both Statement (I) and Statement (II) are false

(3 Statement (I) is true but Statement (II) is false

(4) Statement (I) 1= falzse but Statement (II) is true

ﬁ%iﬁﬁmhﬂ,ﬁﬁ,%;

2 (D) : wEAla T % Fum F omym sern & 3w & us s fe fEE oan
afeefirall @ = fan mn B, gew @9 =i
w94 (1) : i waarhE < fesl Awfam ey & auia @ sravasal 396 2

IUITTh oA & Aok 4, 9 Tev o fawed 8 3 w8 s31 @ 999 $ifaw .

(1) &A1) 31 (1D <41 57 2

(2) @A (@) 3 (D g 3 7

(3) wHA (D) a2 8, A &2 (1) d53 2

(4) e (D) 35 2, Al S99 (1) 97 2
[Question ID = 11610][Question Description = 115_00_General_47_0CT22_Q15]
1. 1 [Option ID = 16437]
2. 2 [Option ID = 16438]

3. 3 [Option ID = 16439]
4. 4 [Option ID = 16440]

11)  Exeeptional classroom communication will result in

(1) Institutionalisation of teaching (2) Noticeable student achievement
(3) Change 1n focus areas of students (4) Manufacturing of consent

(1) 7597 1 TEaT (2) SEAE famd SRy
(3)  TaivE = %z &= 9 gl (4) =FEE w7 FEor

[Question ID = 11611][Question Description = 116_00_General_47_0CT22_Q16]
1. 1 [Option ID = 16441]
2. 2 [Option ID = 16442]
3. 3 [Option ID = 16443]
4. 4 [Option ID = 16444]



12) The Internet-based commumnication for learning is

(A) Isclated
(B) Inter-dependent
(C)  Interactive
(D)  Automatic
(E)y Wideranging
Choose the correct answer from the options given below :
()  (A), (B), (C) Only
(2)  (B), (C), (D) Only
(3) (C), (D), (E) Only
(4) (A), (D). (E) Only

(A) T

(B) #=r-Ter

(C) FAA=TIFacaT

(D) =i

(E) ==

= T30 o famem § 5 WA S W 99 A

() === (A). (B), (O)
(2) === (B). (C). (D)
(3) === (C), (D), (E)
(4)  Fa7(A), (D). (E)

[Question ID = 11612][Question Description = 117_00_General_47_0CT22_Q17]
1. 1 [Option ID = 16445]
2. 2 [Option ID = 16446]
3. 3 [Option ID = 16447]
4. 4 [Option ID = 16448]



13) Given below are two statements :

Statement (I) : Through attention frame. it is possible to assess the rate at which

communicated content iz brought to the notice of the people.

Statement (IT) : In modern societies, the attention frames are uniform, unrefined and non-

interactive when all the frames available 1 the world are taken into

account.

In the lLight of the above statements. choose the correct answer from the options given

below :

(1) Both Statement (1) and Statement (II) are true
(2) Both Statement (I) and Statement (1) are false
{(3) Statement (I) 1s true but Statement (IT) is falze
(4) Statement (I) 1s false but Statement (II) 1s frue

= 2w o E

F95 () : oI 2 (929 %W) F AN H 39 2 F [eAd B 799 7 fem w A
T F S & S = W e e
A (1D : SRR JATE ° FiE AR 4 Fug @i eI e (30 W) W ose T s mL @ 3

Tl 2= T THE, AUEEEA G0 - =

T FIE AT 0, A9 T2 0 fasmew] § § wE 3 = i

(L

(2)

(3)

(4)

Faq (1) 310 (1) 51 e 2
For (1) 97 (ID) 371 51577 =
#a4 () 903 2, =i %94 (1) 359 7

Fu (1) 9977 2, 9154 %94 (ID T 2

[Question ID = 11613][Question Description = 118_00_General_47_0CT22_Q18]
1. 1 [Option ID = 16449]
2. 2 [Option ID = 16450]
3. 3 [Option ID = 16451]
4. 4 [Option ID = 16452]



14)  Given below are two statements : One is labeled as Assertion (A) and the other 1s labeled as
Reason (R).

Assertion (A): The understanding of communication as a ritual is not a radical view.
Reason (R) : The hegemonic view of transmission of communication is no longer valid.

In the hight of the above statements. choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (4)
(3) (A) is true but (R) 1= false
(4) (A) is false but (R) is true
I/ 71 w9 B0 e E : uE 9iFad (Assertion A) ?ﬁﬁqﬁﬁf@ﬁ‘a‘ﬂ‘r‘fﬂm =9% F77 (Reason R) %

F9H :

AT (A) : st fafy & &9 O 550w #1 19 g faEn a8 2)

F (R) : Huwwl w SEA ] e gfewm we a5 R

ST HUA] = AETE A, A9 20 T @Eed § 5 HE 300 6 999 i

(L) (A=W (R) 3 5= 7 3 (R), (A) =1 581 =ven 7
@) (A) =R (R) A T 2, =T @), (A) F1TF = TE 2
(8)  (Ay@= #, = (R) 354 7

(4) (A) 3797 &, =% (R) 973 2

[Question ID = 11614][Question Description = 119_00_General_47_0CT22_Q19]
1. 1 [Option ID = 16453]
2. 2 [Option ID = 16454]
3. 3 [Option ID = 16455]
4. 4 [Option ID = 16456]



15 g . g e
) Identify the correct sequence of barrers to effective commumeation.

(A)  Physieal
(B) Perceptual
(C) Emotional
(D)  Cultural

(E) Semantic

Choose the correct answer from the options given below :
(1) (A), (B). (C), (D). (E)
(2) (B), (C), (D), (E), (A)
(3) (D). (C). (A). (E). (B)
(4 (E). (D). (B). (A). (C)
T HAA F SR HOHE AR § Sqaead i
(A) =R
(B) wr=aiEE
(C) =T
D) HEFTF
(E) w14

16 B A 1 e (B = o s e 0 e o e o e

() (A, B (). (D). (E)
(2) (B, (). D), (E), A
(3) (D) (C). (A). (E). (B)
4)  (E). D). B A. (O

[Question ID = 11615][Question Description = 120_00_General_47_0CT22_Q20]
1. 1 [Option ID = 16457]
2. 2 [Option ID = 16458]
3. 3 [Option ID = 16459]
4. 4 [Option ID = 16460]

16) 400 students took a mock test: 60% of the boys and 80% of the girls eleared the cut off in the
test. If the total percentage of students clearing the cut off in the test is 65% . then how many
girls appeared in the test?

(1) 100 2 120

(3) 150 (4) 300



400 TaeniziEi 4 v Ben whian €] 60% 21 a9 80% BTN 38 Tia & fasdes 37 (F2-31%) T0 &
gt 7o) Afe fa=ges % 9n w3\ v 4 T #R 9 e = %e ufam 65% 7, @
ufier 4 ferae @ransti 4 up foen o @

(1) 100 2 120

(3) 150 (4) 300

[Question ID = 11616][Question Description = 121_00_General_47_0CT22_Q21]
1. 1 [Option ID = 16461]
2. 2 [Option ID = 16462]
3. 3 [Option ID = 16463]
4. 4 [Option ID = 16464]

17)
per annum for two vears and the sum becomes 7 196.

(1) 7 140 (2) ©144

(3) 7150 (4) t154

T FoTeA T TFGIE T 162 % = o w F 7 FT 9% o A, 91 {596 ¢ 196 7 w0 #, 19 gened

i
(1) 7140 (2) 1144
(3 7150 4y 71b4

[Question ID = 11617][Question Description = 122_00_General_47_0CT22_Q22]
1. 1 [Option ID = 16465]
2. 2 [Option ID = 16466]
3. 3 [Option ID = 16467]
4. 4 [Option ID = 16468]

18)  Given below are two statements based on the following :

Find the principal if the compound interest is charged on the principal at the rate of IE%_ %

A Car travels 25 km/hour faster than a bus for a journey of 500 Km, and the bus takes

10 hours more than the car.

Statement (I) :  Speed of the car is 45 km/hour.
Statement (IT) : Speed of the bus iz 20 km/hour.

In the light of the above statements. choose the correct answer from the options given

below :

(1) Both Statement (I) and Statement (II} are true
(2) Both Statement (I} and Statement (II) are falze
(3) Statement (I} is true but Statement (IT) is false
{4) Statement (I) is false but Statement (II) 1s true



freafefias & sman W 5 2 e 2o E )

wh 0 500 T i Fi 7m0 F w25 B /az aiew we @ 9edl 7 a9 s wn F war 10 92

Fo (I) TR il =T 45 T R
FgA (1) : =@ i = 20 T g 2

E b o7 e = o o = O B ot L o | = B>t e L - 1 L

(1) = (D) 31 00 =4 5 3
(2) = (I) 57 (1) 3 @9 7
(3) = () 99 7, =i F2A (1) 594 7

4y = (1) w9 7, = o () & 7

[Question ID = 11618][Question Description = 123_00_General_47_0CT22_Q23]
1. 1 [Option ID = 16469]
2. 2 [Option ID = 16470]
3. 3 [Option ID = 16471]
4. 4 [Option ID = 16472]

19) A sum of 7 53 1s divided among A. B and C in such a way that A gets £ 7 more than what B

zets and B gets T 8 more than what C gets. The ratio of their shares 1s :
(1) 27 :20:12 (2)y 27:17:09
(3) 26318 :10 (4y 23:19:11

T €53 F A B.CU =0 TN [A9ad A T2 R AS BH T T Hiuw Ay B C 1 T 8 Higw
THEAT 7| A7 Sh] THe=aTel T S 2

(1) 27:20:12 2y 27:17:09
(3) 25:18:10 4 23:19:11

[Question ID = 11619][Question Description = 124_00_General_47_0CT22_Q24]
1. 1 [Option ID = 16473]
2. 2 [Option ID = 16474]
3. 3 [Option ID = 16475]
4. 4 [Option ID = 16476]



20)

Match List T with List IT

ListI

(Number Series)
(A) 2.9 28 65, 126. P. ...
(B) 2,10,30,68.130,P. ...
(C) 3.4.11,30,67,128, P, ...
(D) b, 12,31, 68.129. P, ....

List IT
(Value of P in the Series)
@O 220
(I 222
(I 217
(IV) 219

Choose the correct answer from the options given below :

(2)
(3)
(4)

(A)
(B)
(€
D)

i Tau T el § H AE 3 0 =94 AT

(1)
(2)
(3)
(4)

(1) (A)-(1D), (B)-(D), (C)-(IV), (D)-(IID)
(A)-(AV), (B)-(ID), (C)-(11D), (D)-(D)
(A)-ID). (B)-(ID). (O)«IV), (D)-(D
(A)-(D). (B)-(II). (C)-(IV). (D)-(IIT)

I % =g T = e Fifm
ESIP!

2,9, 28,65, 126. P, ....

52

. 10, 30. 68, 130, P. ...
3, 4. 11. 30, 67, 128, P, ...
b, 12,81, 68,199, P, ....

(A)-(II). (B)-(T). (C)-(IV), (D)-(I1I)
(A)-(IV), (B)-(ID). (C)(I1T). (D)-(T)
(A)-(III). (B)-(ID). (C)-(IV). (D)-(D)
(A)-(D. (B)-(II). (C)-(IV). (D)-(IIT)

=1L
7q @ § P OH
(D 220
(In 222
I 217
(IV) 219

[Question ID = 11620][Question Description = 125_00_General_47_0CT22_Q25]
1. 1 [Option ID = 16477]
2. 2 [Option ID = 16478]
3. 3 [Option ID = 16479]
4. 4 [Option ID = 16480]

21)

(
(

T
()
(3)

1 Some Roges are fragrant

3) No. fragrant things are Roses

TR 71 2 % T A ST F
TS T T 74 A

e o T 5 T T4 2

The standard form categorical proposition of ‘Roses are fragrant " is

(2) Some fragrant things are not Roses
(4) All Roses are fragrant things

(2) T3 Tias A= TEE T5 A

(4) =l aErE e e w2 2

[Question ID = 11621][Question Description = 126_00_General_47_0CT22_Q26]



. 1 [Option ID = 16481]
2 [Option ID = 16482]
3 [Option ID = 16483]
4 [Option ID = 16484]

A W N -

22) Match List T with List IT

TastI List IT
(In a square of opposition) (Resultant)
{A) A being given false (I "E’1iz false
(B) ‘E'being given false {II) °E’ 1= true
{C) T being given false (II) T is undetermined
(D) ‘O being given false (IV) T istrue

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(IIT). (C)-(II), (D)-(IV)
(2) (A)-(TID). (B)-(IV). (C)-IT). (D)-(T)
(3) (A)-(ID), (B)-(I), (C)-(I1D), (D)-(IV)
(4) (A)-(IV), (B)-(ID), (C)-(IID). (D)-(I)

wi-1 % =y geEi-11 = e Firsw

-1 a=fi.I1
(A) =03 A’ Ted & F9 WA R M “E e 2
(B) ‘E ¥ 7ed & =9 5 99 T 2 1D “E = 2
(C) T =1 79d & =9 § g 7] 7 ) T =fEE 7
(D)} ‘O % 7T9a % =9 ° 5= 7T 7 V) T = 2|
= Tou 0 fEeeat § 3 HE 390 H =9 R

(1) (A)-(D). (B)-(1IT). (C)-(II). (D)-(IV)

(2) (A)-(III). (B)-(IV). (C)-(ID). (D)-(I)

3)  (A)-aD). B)-(D. (C)-(I). (D)-av)

(4) (A)-(IV). (B)-(ID). (C)-(IID). (D)-(D
[Question ID = 11622][Question Description = 127_00_General_47_0CT22_Q27]
1. 1 [Option ID = 16485]
2. 2 [Option ID = 16486]

3. 3 [Option ID = 16487]
4. 4 [Option ID = 16488]



23) Which one of the following formal fallacies is committed in the given argument?
All athletes are sportspersons.
No actor is an athlete.
Therefore no actors are sportspersons.
(1) Fallacy of Illieit process of Major Term
(2) Fallacy of Ilicit process of Minor Term
(3) Fallacy of Exclusive Premises

(4 Existential Fallacy

frerfafian b 4 wv-m s o 2 27
aifi veelte faenrdt 2
#1é wfiEm verefrz 87 2

WA &TE S faenEl 74 2)

(1)  wgid e 1 Ay when @ ad g
@ i ge i ey ufEE & o e
(3)  =AEHE ST T 2

4y  wiEaeER dF 2m

[Question ID = 11623][Question Description = 128_00_General_47_0CT22_Q28]
1. 1 [Option ID = 16489]
2. 2 [Option ID = 16490]
3. 3 [Option ID = 16491]
4. 4 [Option ID = 16492]



24)  Which of the following pramanas are accepted as valid by the Naiyvavikas?

(A) Perception

{B) Inference

(C)  Presumption

(D}  Verbal Testimony

(E) Comparison

Choose the correct answer from the options given below :

(1) (A), (B). (C) and (D) Only
(2) (B). (C), (D) and (E) Only
(3) (A). (B). (D) and (E) Only
4) (A), (C). (D) and (E) Only

FATRT 7 T=AAEa § ° TR T &) 3y e 2
(A) w34

(B) sAH

(C) 9T

(D) wfes T

(E) g

S o m fae 3 F wE T W T A

(1) & (A). (B). (C) 97 (D)
(2) === (B), (O). (D) w7 (E)
(3) a4 (A). (B), (D) #i (E)
4 =4 (A). (C), (D) 5 (E)

[Question ID = 11624][Question Description = 129_00_General_47_0CT22_Q29]
1. 1 [Option ID = 16493]
2. 2 [Option ID = 16494]
3. 3 [Option ID = 16495]
4. 4 [Option ID = 16496]



25)

Given below are two statements :

Statement (I) :  In Anvayva-Vyatirekl: middle term is both positively and negatively related

to the major term.

Statement (IT) : The knowledge of vyapti In Anvava-vyatireki is arrived at through the

joint method of agreement in presence and in absence.

In the light of the above statements. choose the correect answer from the options given

below :

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) 1s true but Statement (II) 1s false

(4) Statement (I) 1s false but Statement (II} 1s true

w5 (D) ; F= - | 7 92 A1 9% ° YA 71 FOEE 261 59 0 HAg A

w2 (1) e R 10 e O 1= B 1 1 B 1 o s 2 = s ([ 2 et T R =
AT 2

IO WU % s O, A 2 et § O nd 3w w9 i

(1) F9= (@an (AD = 79 2

2 Fo (1) &7 (ID =91 95 7

3) = (I) o9 7, =i w2 (1D 56T 2

(4  F (I) 579 7, =0 F9 () 5 7

[Question ID = 11625][Question Description = 130_00_General_47_0CT22_Q30]
1. 1 [Option ID = 16497]
2. 2 [Option ID = 16498]
3. 3 [Option ID = 16499]
4. 4 [Option ID = 16500]

26)

Which of the following 1z the act of obtaining a password or other confidential information
from a person within an organization by using unauthorized means such as felgning an
emergency situation?

(1) Social engineering (2) Trojan horse

(3) Password crack (4) Stepping-stone attack



T AR U S AAaET ®eA I A 5E T T F e PR S e
€ B R e e T A e Mo o ) e e B Lo e e = 2 2 R 1 o

(1) =i ATHERER (e SHiET) (2) A
(3)  wwEE FF (4) = =E 5

[Question ID = 11626][Question Description = 131_00_General_47_0CT22_Q31]
1. 1 [Option ID = 16501]
2. 2 [Option ID = 16502]
3. 3 [Option ID = 16503]
4. 4 [Option ID = 16504]

27) Arrange the following different types of computer networks in an ascending order on the

basis of geographical area implied.

(A) MAN
(B) WAN
(C) LAN

Choose the correct answer from the options given below :

H  (©.6).
(2) (A (©).®B)
(3 (C) A, (B)
(4) (B). (A). (©)

AT 400 1 STEW &0 7 (eAieTiEn F02gT G2l & (69 Wl i 3 376 ARE F8 ° e

(A) MAN
(B) WAN
(C) LAN

S faw 7o Tomred 5§ H81 309 1 999 hiTa ;

(I)y  (C). (B (A)
(2) (A (©). B
3 (O A ®
4 (B). A (©C)

[Question ID = 11627][Question Description = 132_00_General_47_0CT22_Q32]
1. 1 [Option ID = 16505]
2. 2 [Option ID = 16506]
3. 3 [Option ID = 16507]
4. 4 [Option ID = 16508]



28) @iven below are two statements with regard to websites :

Statement (I) : ‘Twitter' allows users to send small posts known as ‘tweets’ upto 140

characters in length.

Statement (IT} : By default. blogs display posts in chronological order on the home page

with the earliest post at the top.

In the light of the above statements. choose the correct answer from the options given

below :

(1) Both Statement (I) and Statement (IT) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

4= 2 oA feu T F 3 A F oA

F99 (D : foaer TR W 140 SE F Hi 9 O 8 o () w99 R s
Caite]
Foq (T0) fevrme =0 %, yaifys =@ (92) # 30 ° f2@W 30 =g B 99 W 9

FrerwAEan famEe 2

I FYE F A 8, A 5w fawen 1 F wE T F e A

(1)

(2)

(3)

(4)

Fe (I) AW (I0) =1 &ed 7
Fo () =i (1) ZE1 #590 &
9 (1) 73 2, =eea wem (1) w50 2

= (1) 3809 =, == 559 (1D 97 7

[Question ID = 11628][Question Description = 133_00_General_47_0CT22_Q33]
1. 1 [Option ID = 16509]
2. 2 [Option ID = 16510]
3. 3 [Option ID = 16511]
4. 4[Option ID = 16512]



29)

With respect to RAM and ROM, which of the following statements are true?

(A)
(B)
(C)
(D)
(E}

ROM iz Real optical memory.

RAM stores the instructions you are currently working on.
ROM stores the BIOS.

RAM allows the user to read and write data.

Both RAM and ROM loze their data when the power is turned off.

Choose the correct answer from the options given below :

(1) (A), (D) and (E) only
(2)  (B), (C) and (D) only
(3) (A). (B) and (C) only
(40 (0, (D) and (E) only
W (RAM) 3% 79 (ROM) * 524 § F=iieiiea 51 4 =97 o5 27

(A)

(B) H HH I FAAE H R W1 T8 0 A gEAEA S SsiE w B|

(C)

T H TS 3] UH H HSIE A 2

(D) 9 TR F U AW oA S 2 R

E I B L e o it e = e e 7 e P e 1 e

(1)
(2)
(3)

4)

4 (A). (D) 3 (E)

et (B). (C) #7 (D)

=55 (A), (B) = (C)

=4 (C). (D) =117 (E)

[Question ID = 11629][Question Description = 134_00_General_47_0CT22_Q34]
1. 1 [Option ID = 16513]
2. 2 [Option ID = 16514]
3. 3 [Option ID = 16515]
4. 4 [Option ID = 16516]



30)

Match List I with List IT
LiatT List 1T
(Computer terms) {Description)
(A) Hub (I) Inputdevice
(B) Joystick (I) Operating system
(C) Notepad (ITI) Network device
() Android (IV) Text editor

Choose the correct answer from the options ziven below :

L (A-D, B)-dID, (C)«IV). (D)-ID)
(2) (A)-(III), (B)-(D), (C)-(ID), (D)-(IV)
(3) (A)-(ITD), (B)-(D. (C)-{IV). (D)-(ID
4 (AIV). (B)-D. (C)-(D. (D)-(II)

T T
(e g (i)

A == @D =9 fzamEs

(B) AaEE () sofe faem

(C) =TS (Il) === fzamsm

(D) TrEEs (IV) ZF= TR

= fom o faweg 8 98 = w1 =99 i

(1) (A)-(I). (B)-(IIL). (C)-(IV). (D)~«(ID)
(2) (A)-ID). (B)-(D), (C)-(ID). (D)-(IV)
(3) (A)-(IID), (B)-(D), (C)-(IV). (D)-(1I)
4) (A)-AV). B)-(I). (C)-(I). (D)-(ILL)

[Question ID = 11630][Question Description = 135_00_General_47_0CT22_Q35]
1. 1 [Option ID = 16517]
2. 2 [Option ID = 16518]
3. 3 [Option ID = 16519]
4. 4 [Option ID = 16520]

31)  In 2018. the Original Framework Agreement on establishment of International Solar
Alliance was amended to extend the scope of its membership to
(D All member statez of United Nations (2) The SAARC couniries

(3 Countries 1n the Middle-East (4) Countries in the Sub-Saharan Africa



T 2018 H ARTAS FHEE WHZ HE TEAEH SF SIS Jien TEEE H Heda FeeEa 5 "
e 10, =51 A9 & 5797 91 990 #94 & 190 @ T Y

(1) =% 7 % A g5e e (2) = =m
(3 w=EEFIT (4) =7 TR R F AW

[Question ID = 11631][Question Description = 136_00_General_47_0CT22_Q36]
1. 1 [Option ID = 16521]
2. 2 [Option ID = 16522]
3. 3 [Option ID = 16523]
4. 4 [Option ID = 16524]

32) Given below are two statements ;

Statement (I) :  Atmospheric stability is important because it determines the ability of
pollutants to disperse vertically in the atmosphere.

Statement (I[) : In summer season in India, the atmosphere is generally stable.

In the light of the above statements. choose the correct answer from the options given
below ;

(1) Both Statement (I) and Statement (II) are true
{2) Both Statement (1) and Statement (II) are false
(3) Statement (I) 1= true but Statement (IT) is false
{4) Statement (I) 1= false but Statement (II) 1s true

AT R B R

Fu7 (I) : AT TP SEeaE 2 FEIE SHE GEASE 3 UEEE 1 S g 3 e
AT a7 A

Fa3 (1) : T § U FE § AEATSE A T4 FE R

IHF FU9 F AT °, A9 160 70 faweT] 0 O 8] 307 o6 =9 i o

(1)  =w= (D) 9 (1) 541 &= 2
(2) =@ (D) =7 (D) == 59954 7
(3) =\ ()T 7, = w1 (1) #5979 =

(4)  Fua (1) 99 7, =T 597 (1) =79 7

[Question ID = 11632][Question Description = 137_00_General_47_0CT22_Q37]
1. 1 [Option ID = 16525]

2. 2 [Option ID = 16526]

3. 3 [Option ID = 16527]

4. 4 [Option ID = 16528]

33) Arsenic pollution in ground water is due to

(1) Oxides= of arsenic (2) Sulphates of arsenic
(3) Acids of arsenie (4) Nitrates of arsenic

(1) =& F wiFaes (2) AW F T
(3)  EEE  w= (4) T F A5



[Question ID = 11633][Question Description = 138_00_General_47_0CT22_Q38]
1. 1 [Option ID = 16529]
2. 2 [Option ID = 16530]
3. 3 [Option ID = 16531]
4. 4 [Option ID = 16532]

34) Identify the correct sequence of the following countries in respect of their ranking in
Sustainable Development Index 2020.

(A) China
(B) USA
(C) Brazil
(D) Russia
(E) India

Choose the correct answer from the options given below :

(1) D=B=A=E=C
(2) B=A=C=D=E
(3) B>A=D=>=C=E
(4) D>=B=A>C=E

#Ad {9 e 2020 ° T30 % SEn Heiaiad o @ GE FE J sgatead i
(A) =H

(B) #Ew T SHIE

(C) ==
D) ==
(E) 4rva
“/@ e T FEeT 5 | 5 I w99 F0an

(1) D=B=A=E=>C

(2) B=A=C=D=E

(3 B=A>D=C=E

(4) D=B=A=C=E

[Question ID = 11634][Question Description = 139_00_General_47_0CT22_Q39]
1. 1 [Option ID = 16533]
2. 2 [Option ID = 16534]

3. 3 [Option ID = 16535]
4. 4 [Option ID = 16536]



35)
What 1s the correct sequence of various components of biogas in terms of their abundance?

(A) Ammonia (NHz)
(B) Hydrogen Sulfide (H-S)
(C) Methane (CHy)

(D)  Carbon dioxide (CO2)

Choose the correct answer from the options given below :

(@8] B=D=A=C
{(2) C=D=A=>8B
(3) D=C=B=A

{4) C=D=B=A

AT 1 F1E H AN & = 92 AR F S| Hia
(A)  smTFET (NH3)
(B) =wEstE weEEs (H2S)

(C) T#= (CHa)
(D) FEA SEAEES (CO2)

9 Tou 70 Tasedl 3 = Ha 39 0 S99 hiA0

(1) B=D=A=C

(2) C=D=A=B

(3) D=C=B=A

(4} C=D=B=A
[Question ID = 11635][Question Description = 140_00_General_47_0CT22_Q40]
1. 1 [Option ID = 16537]
2. 2 [Option ID = 16538]

3. 3 [Option ID = 16539]
4. 4 [Option ID = 16540]

36) NITI Aayog is a/an
(1) Statutory hody of GOTL (2) Autonomous body of GOT

(3) Advisory body to GOI (4) Executive body of GOIL



fifq s 2

(1)  owd JHR F1 v difafes e (2) WHA HER # UF =EE HE
(3)  O97E HTEN H Uk HeArEEn e (4) WA "R = v iy e

[Question ID = 11636][Question Description = 141_00_General_47_0CT22_Q41]
1. 1 [Option ID = 16541]
2. 2 [Option ID = 16542]
3. 3 [Option ID = 16543]
4. 4 [Option ID = 16544]

37) The University Grants Commission was constituted on the recommendation of which of the
following?
(1) Mudaliar Commission (2) Sargent Commission
(3) Radha Erishnan Commission (4) Kothari Commission

et 8 5 e s w fAratasres SEE A w5 e e T

(L)  HEres AmEm (2) A= A
(3)  TETEUE AW (4) =FEE] AE

[Question ID = 11637][Question Description = 142_00_General_47_0CT22_Q42]
1. 1 [Option ID = 16545]
2. 2 [Option ID = 16546]
3. 3 [Option ID = 16547]
4. 4 [Option ID = 16548]

38) Given below are two statements :
Statement (I) :  Education for environment is a process of inquiry and action on real
environmental issues.

Statement (II) : Children are educated about environmental prohlems. equality and many
other 1ssues. without development of skills and attitudes to meet these
challenges,

In the light of the above statements. choose the correct answer from the options given
below :

(1) Both Statement (I)-and Statement (IT) are true
(2) Both Statement (I) and Statement (IT) are false
(3) Statement (I) 1s true but Statement (II) 12 false

(4) Statement (I) 1s false but Statement (IT) is true



o wm ErmE

F2E (D) :

+9a (II) :

U 2]

T I A TS, R S0 w0 e 6 e e e gt |

IO FUH F AT H, A9 @20 0 e 3 H Hel 39 & =19 I

(1)
(2)
3)

(4

w9 (1) @ (1) =91 == &

FoA (I) 3 (I0) 21 38 =

Fo (1) 59 7, =114 %2 (1) %073 7

F97 (1) =92 7, = %2 (D o 7

[Question ID = 11638][Question Description = 143_00_General_47_0CT22_Q43]

1. 1[0
2. 2[0
3. 3[0
4. 4[0

39)

ption ID = 16549]
ption ID = 16550]
ption ID = 16551]
ption ID = 16552]

Match Ligt T with List IT:

ListI
(Article of Indian Constitution)
(A) 45

(B) 30
(C) 13(3)
(D) 239

(D

(IT)

(IIT) Right to

List 11
(Subject)
Empowering the state to make special

provisions for women and their
education
Responsibility of education

department of the Union Territories
under the Central Government

free and compulsory

education

(IV) Right of mincrities to establish and

administer education institutions

Chooge the correct answer from the options given below :

(1) (A)-(IV), (B)-(III), (C)-(IT), (D)-(D)
(2) (A)-ID). (B)-(IV). (C)-(I). (D)~(IT)
(3) (A)-(ID), (B)-(D), (Cy-(IV), (D)-(IIL)
(4) (A)-(I), (B)-(I11), (C)-(IT}, (D)-AV)



T % =g T 7 e i

! 11T
(WA & Hiawm & T ) (ferg)
(A) 45 @O = & wfaenst sin 39k foian & fem
ferde FuEs i 1 HWHFN YaH w4
(B) 30 (ID %= HHE F dA=Pd H9 U9 51 & foan
faum =1 gifas
(C) 15(3) (I F-speeh 3 sfary foran & sl
(D) 239 (IV) $ias d@wem wafad &@ st gafad +3

Hadl HA HiE & ATER

5 et L = = i = o s e = e A

(1) (A)-(IV), (B)-(OI). (C)II). (D))

(2) (A)-(IOO). (B)-(IV), (C)-(I). (D)-{II)

(3) (A)-(ID). (B)-(I), (C)-(IV). (D)-(III)

(4) (A)-(@). (B)-(IID). (C)-(ID). (D)-(IV)
[Question ID = 11639][Question Description = 144_00_General_47_0CT22_Q44]
1. 1 [Option ID = 16553]
2. 2 [Option ID = 16554]

3. 3 [Option ID = 16555]
4. 4 [Option ID = 16556]

40) Match List I with List IT:

ListI ListIT
(Institutes of National Importance) (Locations)
(A) National Institute of Design (I).: ' Mghali

(B) National Institute of Pharmaceutical (II) Ahmedabad
Edueation and Research

(C) Vishvesaraya National Institute of (III) Vijayawada
Technolozy

(D) School of Planning and Architecture {IV) Nagpur

Choose the correct answer from the options given below :

(1) (A)-(@). (B)AIID). (C)-(IV). (D)-(ID)
(2) (AR, B)-IV). (C)-(ID). (D)-(D
(3)  (A-IV). (B)-(III). (C)-(D. (D)-(ID
(4) (A)-(ID), (B)-(D. (C)-(IV). (D)-(III)



-1 % Trd geEi-I1 =7 e Fiee

11 o111
(I uEv & HEH) (T2174)
(A)  F9F Fzge AT e (D =
(B) 9 A TR TEgea taheE us (I sEEEEE
freg

(C) Tavamia Fome Sfezege AT Zier= (IID Trarst

Fr= fau o fomeem @ @ WA 3 =Ae AFiaw

(1 (A)-(D), (B)~(III). (C)-(IV). (D)(II)
(2) (A)-(IID). (B)-(IV). (C)-(II). (D)-(I)
(3) (A)-(IV). (B)-(ILI), (C)-(I). (D)-(1I)
(4) (A)-(ID). (B)-(D). (C)-(IV). (D)-(I1D)

[Question ID = 11640][Question Description = 145_00_General_47_0CT22_Q45]
1. 1 [Option ID = 16557]
2. 2 [Option ID = 16558]
3. 3 [Option ID = 16559]
4. 4 [Option ID = 16560]

Topic:- 11_GP_SH1_S1_C



1)

Read the following passage and answer questions from 46 to 50.

The wastage of food 1s substantial in every country. but some studies have shown that it 1s
more serious in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that is
needed, but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm., when it moves to the market and is processed, stored and
shifted to shops. and finally in the kitchen. Many fruits and vegetables perish soon after
harvesting. There 1s a need to improve production and stordage practices. transport and
infrastructure. cold chain systems and processing techniques. Modern technologies and
packaging methods are needed. But even in countries where these facilities are available,
wastage 1s high. So, the most important requirement is to improve popular awareness of the
need to ensure that food is not wasted in any form. at any stage. China has launched a clean
plate campalgn against wastage. It i1s estimated that food worth at least Rs. 1 lakh crore 1s
wasted in India, and this does not include wastage of cooked food. A part of that should he
enough to feed the larger numbers of hungry people 1n the country. which is ranked 94 out of
107 countries in the global hunger index. Food 12 wasted massively at weddings and on other
occazions. The Delhi Government had, in pre-Covid times, thought of restricting the number
of guests at weddings to reduce wastage of food. The UN report says that reducing food waste
would also cut greenhouse gas emissions and slow the destruction of nature through land
conversion and pollution. Avoiding food wastage should therefore became a national mission.
It will have very positive environmental, social and economic impacts, In India, it 1s stated
that the household food wastage is 50 kg per capita per year. which is less than in countries
like the US and China. It is not because of efficient use of food. because of overall availability
of food.
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@rE | ATl g9 0 sk w ) e R, Fhe g sveEs @vitd # TR ge Auen fasraeiie gun
ﬁﬂfﬁﬂfn%lwﬂwaﬁ%ﬁmiﬁmwﬂmwwﬁﬂémdﬁm?l%ﬁ AT AN
&1 G Wi FegA w2, fb e R s arend s s w8 adl den 4w oA @ dtaa 3
wre verd ) el w0 A 2, T T A S S A 2, S s e A 2, e
wer) fem S 2, 32 gFET A I e B 3R s A v A sadhl avard] 26 2 A A e s
afeqdl I % vEE AR WA A A A IETE 3 e ygieEl, giee ve s, #ies |9
yuiref] il wHTE qeTHl 8 guT e e L smavgsa 2) anyfe gt i GG Rl 6
WravEFA 71 =, 59 o0 9 g glaan ageres off 8, 971 9 @ & aad wetas 2 o, gaffas
EEl 97 # & 39 AEvasm & uld SrmeEd I30E S AW AT 98 giafeaa fEm o g f6 e o
=y 4 T off v w e 1 FEmrd 3 8 S99 3 g aEmd & 9Eg wlE e sfeam smy e 2
47 A9 ? o WWd 0 @M # al | dng s B0 e o e sl gl @l B, 39H v B e ol
I wTeA A1 21 Hehl ek upl, @2 dem 4 99 & q@ @R %) Y9E #E] 2q v 2, 91 e afvas
W@ gaEE 4 107 <9 fl gl 0 044wy w3 sl 3 3= sEe W oErE 6 e W
wardl 2t 21 fegdl wewn 3, #ifaz-gd v § @ B wmd w9 G & fen afed O feyeE F e
&1 uigaiad &1 fen an gua foie 4 3g@ 2 e mma & e % 99 9H | fiH9ere W E I
off @fl smefi siv wfy gfrads o g & gregn 8 gafa & faam i afg o dedt 2ol safen, am
qrEEl TR T8 fovE 99 T 2 EeR WRgA HeRRTEHE ST, Hriiaes 31 e gare w0
agradr 2 T vma 8, ufa o ufd saf 50 fen @1 a0 @ wad) 26 2, o fr gue s <m o e
H %Y 2| 98 W & HEeE I % HW0 AH 2 4fEw | 4 5uy 3ued) & w1 2

A major fall out of enormous amount of food wastage 1s
(1) More food production
(2) Uneven access to market

(3) Large number people going hungry
(4) More investment in the farm sector of developing countries

ST W 0T avErel @ g 2 R

(1 T @ I

(2)  =ET R A T

(3) wEEEnE g am

(4)  TamrEeier 5o ° EEm A9 At e

[Question ID = 11641][Question Description = 146_00_General_47_0CT22_Q46]
1. 1 [Option ID = 16561]
2. 2 [Option ID = 16562]

3. 3 [Option ID = 16563]
4. 4 [Option ID = 16564]



2)

Read the following passage and answer questions from 46 to 50.

The wastage of food 1s substantial in every country. but some studies have shown that it is
more gerious in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that is
needed, but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm., when it moves to the market and is processed, stored and
shifted to shops. and finally in the ktchen. Many fruits and vegetables perish soon after
harvesting. There 1s a need to improve production and stordge practices. transport and
infrastructure. cold chain systems and processing techniques. Modern technologies and
packaging methods are needed. But even in countries where these facilities are awvailable,
wastage 1s high. So, the most important requirement is to improve popular awareness of the
need to ensure that food is not wasted in any form. at any stage. China has launched a clean
plate campalgn against wastage. It 1s estimated that food worth at least Rs. 1 lakh crore 1s
wasted in India, and thiz does not include wastage of cooked food. A paxt of that should be
enough to feed the larger numbers of hungry people in the country. which is ranked 94 out of
107 countries in the global hunger index. Food 1= wasted massively at weddings and on other
occazions. The Delhi Government had, in pre-Covid times, thought of restricting the number
of guests at weddings to reduce wastage of food. The UN report says that reducing food waste
would also cut greenhouse gas emissions and slow the destruction of nature through land
conversion and pollution. Avoiding food wastage should therefore became a national mission.
It will have very positive environmental, social and economic impacts, In India, it 1s stated
that the household food wastage is 50 kg per capita per year. which is less than in countries
like the US and China. It is not because of efficient use of food. because of overall availability
of food.
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@rE | ATl g9 0 sk w ) e R, Fhe g sveEs @vitd # TR ge Auen fasraeiie gun
4 wifer M R QUATEUS] & Y & SHR w0y =@ # o e sad 2 e 2 fava, smEvgel
*1 GFI w3 i 2, T wre i g aerd st s i 8 adl e § | a3 dfa
w|re Jerd 1 WA GAi 0 F7 8, 99 3% AN 0 | A A 2, 3 THER e e 3, 39
wzp fEm a2, ﬁmﬁamm?aﬁrﬂnm@mnzﬂdﬂm@?ﬁélﬁanwaﬁ
afeqdl I % vEE AR WA A A A IETE 3 e ygieEl, giee ve s, #ies |9
YuiTef] S ST deTE] 8 gar feu w L savged &) syl drnfien i Swhm fafegi 4
WravEFA 71 =, 59 o0 9 g glaan ageres off 8, 971 9 @ & aad wetas 2 o, gaffas
EEl 98 2 6 38 smavasa & 9fd Srmedl 30T @l S A1 38 e 1 E5e R o
=y 4 T off v w e 1 FEmrd 3 8 S99 3 g aEmd & 9Eg wlE e sfeam smy e 2
47 A9 ? o WWd 0 @M # al | dng s B0 e o e sl gl @l B, 39H v B e ol
arardl snfae 48 21 sHe vw uw, 21 HEn d 99 ok e @i o) U sl Bq vam 2, A fa afeas
W@ gaEE 4 107 <9 fl gl 0 044wy w3 sl 3 3= sEe W oErE 6 e W
wardl 2t 21 fegdl wewn 3, #ifaz-gd v § @ B wmd w9 G & fen afed O feyeE F e
&1 uigaiad &1 fen an gua foie 4 3g@ 2 e mma & e % 99 9H | fiH9ere W E I
off @fl smefi siv wfy gfrads o g & gregn 8 gafa & faam i afg o dedt 2ol safen, am
qraTdl okl TehA1 U fove a9 0 2 ek RSd HeRRTeYsh WA, warfas sin il gaa 26
agradr 2 T vma 8, ufa o ufd saf 50 fen @1 a0 @ wad) 26 2, o fr gue s <m o e
q % 2| T2 = & FIE IEN F F00 AF 2 alew @ 6 quy ST & w56 )

What are the measures suggested to reduce food wastage?
(A)  Better storage and transport facilities
(B) Establishment of cold chain systems

(C) Cl-_:ssure of points of food wastage

(D)  Restriction on weddings

Choose the correct answer from the options given below ;

(1) (A) and (B)
()  (B)and (C)
(3  (C)and (D)

4 (A)and (D)



(A) #EAT HEE AR UiEEd SEEm
(B) =z = wofer 1 T
(C) Tame el = TagaT w1 5% Fe
(D) =i FATTE W A

1= f2u Tu faEEeT | A wE 3 == A

(1) (A) 741 (B)
(2) (B) 74 (C)
(3) (C) 741 (D)

4 {A)@9 (D)

[Question ID = 11642][Question Description = 147_00_General_47_0CT22_Q47]
1. 1 [Option ID = 16565]
2. 2 [Option ID = 16566]
3. 3 [Option ID = 16567]
4. 4 [Option ID = 16568]



3)

Read the following passage and answer questions from 46 to 50.

The wastage of food 1s substantial in every country. but some studies have shown that it is
more gerious in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that is
needed, but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm., when it moves to the market and is processed, stored and
shifted to shops. and finally in the ktchen. Many fruits and vegetables perish soon after
harvesting. There 1s a need to improve production and stordge practices. transport and
infrastructure. cold chain systems and processing techniques. Modern technologies and
packaging methods are needed. But even in countries where these facilities are awvailable,
wastage 1s high. So, the most important requirement is to improve popular awareness of the
need to ensure that food is not wasted in any form. at any stage. China has launched a clean
plate campalgn against wastage. It 1s estimated that food worth at least Rs. 1 lakh crore 1s
wasted in India, and thiz does not include wastage of cooked food. A paxt of that should be
enough to feed the larger numbers of hungry people in the country. which is ranked 94 out of
107 countries in the global hunger index. Food 1= wasted massively at weddings and on other
occazions. The Delhi Government had, in pre-Covid times, thought of restricting the number
of guests at weddings to reduce wastage of food. The UN report says that reducing food waste
would also cut greenhouse gas emissions and slow the destruction of nature through land
conversion and pollution. Avoiding food wastage should therefore became a national mission.
It will have very positive environmental, social and economic impacts, In India, it 1s stated
that the household food wastage is 50 kg per capita per year. which is less than in countries
like the US and China. It is not because of efficient use of food. because of overall availability
of food.
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wre verd ) el w0 A 2, T T A S S A 2, S s e A 2, e
wer) fem S 2, 32 gFET A I e B 3R s A v A sadhl avard] 26 2 A A e s
afeqdl I % vEE AR WA A A A IETE 3 e ygieEl, giee ve s, #ies |9
yuiref] il wHTE qeTHl 8 guT e e L smavgsa 2) anyfe gt i GG Rl 6
WravEFA 71 =, 59 o0 9 g glaan ageres off 8, 971 9 @ & aad wetas 2 o, gaffas
EEl 97 # & 39 AEvasm & uld SrmeEd I30E S AW AT 98 giafeaa fEm o g f6 e o
=y 4 T off v w e 1 FEmrd 3 8 S99 3 g aEmd & 9Eg wlE e sfeam smy e 2
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I wTeA A1 21 Hehl ek upl, @2 dem 4 99 & q@ @R %) Y9E #E] 2q v 2, 91 e afvas
W@ gaEE 4 107 <9 fl gl 0 044wy w3 sl 3 3= sEe W oErE 6 e W
wardl 2t 21 fegdl wewn 3, #ifaz-gd v § @ B wmd w9 G & fen afed O feyeE F e
&1 uigaiad &1 fen an gua foie 4 3g@ 2 e mma & e % 99 9H | fiH9ere W E I
off @fl smefi siv wfy gfrads o g & gregn 8 gafa & faam i afg o dedt 2ol safen, am
qrEEl TR T8 fovE 99 T 2 EeR WRgA HeRRTEHE ST, Hriiaes 31 e gare w0
agradr 2 T vma 8, ufa o ufd saf 50 fen @1 a0 @ wad) 26 2, o fr gue s <m o e
H %Y 2| 98 W & HEeE I % HW0 AH 2 4fEw | 4 5uy 3ued) & w1 2

The clean plate campaign indicates the need for to reduce food wastaze.
(1) Strict pumshment (2) Public awareness

(3 New processing technigues (4y TImproved packaging methods

FA T2 ATGAT G SEE] ] A =1 AT ® Al 2

(1) =+ (2) =7 FFEFE

(8) A9 yEEE AEAT 4y Za TEba T

[Question ID = 11643][Question Description = 148_00_General_47_0CT22_Q48]
1. 1 [Option ID = 16569]
2. 2 [Option ID = 16570]
3. 3 [Option ID = 16571]
4. 4 [Option ID = 16572]



4)

Read the following passage and answer questions from 46 to 50.

The wastage of food 1s substantial in every country. but some studies have shown that it is
more gerious in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that is
needed, but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm., when it moves to the market and is processed, stored and
shifted to shops. and finally in the ktchen. Many fruits and vegetables perish soon after
harvesting. There 1s a need to improve production and stordge practices. transport and
infrastructure. cold chain systems and processing techniques. Modern technologies and
packaging methods are needed. But even in countries where these facilities are awvailable,
wastage 1s high. So, the most important requirement is to improve popular awareness of the
need to ensure that food is not wasted in any form. at any stage. China has launched a clean
plate campalgn against wastage. It 1s estimated that food worth at least Rs. 1 lakh crore 1s
wasted in India, and thiz does not include wastage of cooked food. A paxt of that should be
enough to feed the larger numbers of hungry people in the country. which is ranked 94 out of
107 countries in the global hunger index. Food 1= wasted massively at weddings and on other
occazions. The Delhi Government had, in pre-Covid times, thought of restricting the number
of guests at weddings to reduce wastage of food. The UN report says that reducing food waste
would also cut greenhouse gas emissions and slow the destruction of nature through land
conversion and pollution. Avoiding food wastage should therefore became a national mission.
It will have very positive environmental, social and economic impacts, In India, it 1s stated
that the household food wastage is 50 kg per capita per year. which is less than in countries
like the US and China. It is not because of efficient use of food. because of overall availability
of food.
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WravEFA 71 =, 59 o0 9 g glaan ageres off 8, 971 9 @ & aad wetas 2 o, gaffas
el 47 2 f6 78 smEvaEd & ufa SrEEd 30 f S arfs 37 glhfvaa o w5 i fe of
=y 4 T off v w e 1 FEmrd 3 8 S99 3 g aEmd & 9Eg wlE e sfeam smy e 2
47 A9 ? o WWd 0 @M # al | dng s B0 e o e sl gl @l B, 39H v B e ol
arardl snfae 48 21 sHe vw uw, 21 HEn d 99 ok e @i o) U sl Bq vam 2, A fa afeas
W@ gaEE 4 107 <9 fl gl 0 044wy w3 sl 3 3= sEe W oErE 6 e W
wardl 2t 21 fegdl wewn 3, #ifaz-gd v § @ B wmd w9 G & fen afed O feyeE F e
&1 uigaiad &1 fen an gua foie 4 3g@ 2 e mma & e % 99 9H | fiH9ere W E I
off @fl smefi siv wfy gfrads o g & gregn 8 gafa & faam i afg o dedt 2ol safen, am
qraTdl okl TehA1 U fove a9 0 2 ek RSd HeRRTeYsh WA, warfas sin il gaa 26
agradr 2 T vma 8, ufa o ufd saf 50 fen @1 a0 @ wad) 26 2, o fr gue s <m o e
H &Y 2| 92 W & FE IEM F F A7 2 afew mrg F mmy e & S 2

Food wastage also causes

(1) The rich-poor divide (2) Increase in contagious diseases
(3) Harvest 1ssues (4) Environmental pollution

(1) - s (2) = T A g
(3) T wEd mEE= (4) T T

[Question ID = 11644][Question Description = 149_00_General_47_0CT22_Q49]
1. 1 [Option ID = 16573]
2. 2 [Option ID = 16574]
3. 3 [Option ID = 16575]
4. 4 [Option ID = 16576]



5)

Read the following passage and answer questions from 46 to 50.

The wastage of food 1s substantial in every country. but some studies have shown that it is
more gerious in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that is
needed, but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm., when it moves to the market and is processed, stored and
shifted to shops. and finally in the ktchen. Many fruits and vegetables perish soon after
harvesting. There 1s a need to improve production and stordge practices. transport and
infrastructure. cold chain systems and processing techniques. Modern technologies and
packaging methods are needed. But even in countries where these facilities are awvailable,
wastage 1s high. So, the most important requirement is to improve popular awareness of the
need to ensure that food is not wasted in any form. at any stage. China has launched a clean
plate campalgn against wastage. It 1s estimated that food worth at least Rs. 1 lakh crore 1s
wasted in India, and thiz does not include wastage of cooked food. A paxt of that should be
enough to feed the larger numbers of hungry people in the country. which is ranked 94 out of
107 countries in the global hunger index. Food 1= wasted massively at weddings and on other
occazions. The Delhi Government had, in pre-Covid times, thought of restricting the number
of guests at weddings to reduce wastage of food. The UN report says that reducing food waste
would also cut greenhouse gas emissions and slow the destruction of nature through land
conversion and pollution. Avoiding food wastage should therefore became a national mission.
It will have very positive environmental, social and economic impacts, In India, it 1s stated
that the household food wastage is 50 kg per capita per year. which is less than in countries
like the US and China. It is not because of efficient use of food. because of overall availability
of food.
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off @fl smefi siv wfy gfrads o g & gregn 8 gafa & faam i afg o dedt 2ol safen, am
qrETE F A1 W e ST T B sHe WA BRI UHTEi, HTEifae s e wara w0
agradr 2 T vma 8, ufa o ufd saf 50 fen @1 a0 @ wad) 26 2, o fr gue s <m o e
H %Y 2| 98 W & HEeE I % HW0 AH 2 4fEw | 4 5uy 3ued) & w1 2

Stoppage of food wastage is needed in the interest of

(1) Food production
(2 National foed mission
(D Bring down the number of countries in Global Hunger Index
(4 Makinge food available to all
T AT ] AT (e eA § 2 7
(1) i So97E
(2) T @ meE
(3) A= JF FEFIE | <0 i HST FFG FAT
(4) = w =0 5[ 9o =
[Question ID = 11645][Question Description = 150_00_General_47_0CT22_Q50]
1. 1 [Option ID = 16577]
2. 2 [Option ID = 16578]

3. 3 [Option ID = 16579]
4. 4 [Option ID = 16580]

Topic:- 8_Commerce_Set1_A

1) Which one among the following is not a privilege or right of a holder-in-due course under
Negotiable Instruments Aet?

e Fraw fufam 5 e it § 8 70 v § une 1 e a9 37
[Question ID = 11796][Question Description = 101_08_Commerce_3_SEPT22_Q01]
1. Estoppel against denyving signature or capacity of prior party

TR TEET ¥ FEAET HEal SAS au S = foeg e

[Option ID = 17181]
2. Estoppel against denving orginal validity of the instrument

Torge & Oites o aeEE F g o



3.

[Option ID = 17182]
Estoppel against denying capacity of the payee to endorse

Tgwal gU TS & gUa A & O HEe

[Option ID = 17183]

4. Estoppel against denyving the genuineness or validity of pavee’s endorsement

srerEAl & TR ) o e G- s 5 9 = g e

[Option ID = 17184]

2) Limited liability partnership may be wound up by which one of the following

it T et et § & fred T B ase B e

[Question ID = 11797][Question Description = 102_08_Commerce_3_SEPT22_Q02]
1.

Voluntarily
e
[Option ID = 17185]

By the Registrar. if the firm fails to file annual return in the preseribed form with the
Regiztrar of Companies within 60 days of closer of the financial year

T (Fer) % g 3% sfrem B o % 3w 3 60 T it omfy & e 5 Feas =
fafe v # e sma-orr el vomm = A fawa oo 2

[Option ID = 17186]

- By the Tribunal established under the Companies Act, 2013

Foit wfufEm, 2013 F i wniee arfer go)

[Option ID = 17187]

- Either voluntarily or by the tribunal established under the Companies Act, 2013

Afrrey ¥ apm = afafmn, 2013 % wtfm wrfe fro w3 o9 afasm gl

[Option ID = 17188]

3) Which one of the following statements is correct regarding the Negotiable Instruments Aet in

India?

e o TeE fras e = wn § S 9 8 S s T 20

[Question ID = 11798][Question Description = 103_08_Commerce_3_SEPT22_Q03]
1.

A cheque iz always drawn on a banker

[Option ID = 17189]

- A chegue requires the acceptanece by the drawee

=% o e w9 T st g S S i e v

[Option ID = 17190]

- A bill of exchange can be drawn payable to bearer on demand

T foe 9 W A i =4 TanE 9 areie R = A 2

[Option ID = 17191]

- A promissory note containing a eonditional promise to pay is a valid promissory note

T T Heg w0 1 v 5= w7 - R S s wm )

[Option ID = 17192]

4) Which ome of the following does not fall in the ambit of the objectives of the Competitions Act,

2002 in India?



yra | Feies 8 9 aEr niierat afatas, 2002 5 vy £ afite 8 985 a0
[Question ID = 11799][Question Description = 104_08_Commerce_3_SEPT22_Q04]
1. Encourage competition

[Option ID = 17193]
2. Prevent abuse of dominant pesition

wya fafs % gemm = famm

[Option ID = 17194]
3. Preveni monopolistic rights arising out of intellectual property

i wag F I09= wEiaH it w1 A

[Option ID = 17195]
4. Regulate mergers and acquisitions

forem adh sefenrem = Fafs
[Option ID = 17196]
5) The profit for the year before dppropriation in a partnership firm was Rs.50,000. Shagun, one
of the partners. receives a salary of E= 4 000 and interest at ten per cent per annum on his
capital of s 1,00.000. Amir. the other pariner, receives interest on capital at the same rate as

Shagun Amir's eapital was R=.89,000. They share profits and losses equally. What was the
total share of profits eredited to Amir's current account?

T HIEEE FH A AT | 9Ee 39 @ omd 50,000 wE ) vE "rsEn w90 4,000 79 3 A
Toern 2 3f% =1 1.00.000 #97 i G W wioad 78 Wiawm = e 21 UF g5 6TEER A 9 S
T W WE F TE W W SR e | Ahe 9 89,000 w9 41| Tne i e B T Fee =Y A
i A T f e B e B ol T e e L
[Question ID = 11800][Question Description = 105_08_Commerce_3_SEPT22_QO05]
1. Rs.13.550

13,550 =18

[Option ID = 17197]
2. Rs.15,350

15,350 7

[Option ID = 17198]
3. Rs.22.450

29 450 =74

[Option ID = 17199]
4. Rs.924.350

24 350 7

[Option ID = 17200]

6) The examination of decumentary evidence in support of transactions contained n the books of
accounts is termed a5 which one of the following?

wharad) § gl AH-ta & U9 § oA wa ) wie B § | 99w 9 27
[Question ID = 11801][Question Description = 106_08_Commerce_3_SEPT22_Q06]
1. Verification

T

[Option ID = 17201]
2. Vouching



HHHVEA

[Option ID = 17202]
3. Valuation

oA

[Option ID = 17203]
4. Walidation

G

[Option ID = 17204]

7) Which one of the following approaches of human rescurce aecounting was suggested by
Brummet, Flamholtz and Pyle?

UTE HETEA WEiE F iR S8 U S s, Feiaeed At urae oo gEne e a7

[Question ID = 11802][Question Description = 107_08_Commerce_3_SEPT22_Q07]
1. Replacement Cost Approach
HIAE 9= TR Sq
[Option ID = 17205]
2. Historical Cost Approach
[Option ID = 17206]
3. Opportunity Cost Approach
ATEET WIE S
[Option ID = 17207]
4. ‘Btandard Cost Approach

[Option ID = 17208]

8) The following information with respect to a company is given below:
Net profit before tax =% 1,00,000
10% Preference share capital (8 10 each) =% 1,00,000
Equity share capital (¥ 10each)=% 1,00.000
Taxation at 50% of Net profit
Which one among the following is the earning per share?
e s e
Fi-1 e @ = 1,00,000 ¥
10% sriémm 9/ 9= (T 10 9T =0m) = 1.00.000 =70
g T T (X 10 W 9eT) = 1,00,000 90

TR T9Ee = w1 500%
Fraifas # - o ufs s ufifs ame gi e

[Question ID = 11803][Question Description = 108_08_Commerce_3_SEPT22_Q08]

1. Zero

T

[Option ID = 17209]
2. F4

4 79¢

[Option ID = 17210]
3.3 10



10 #au

[Option ID = 17211]
4. F 40

407
[Option ID = 17212]
9) Who among the following Economists supgested the Sales Revenmz Maximization as an
alternative objective of a business firm?

Fraiten 4 § Fem anfanch 3 Tt voeg 5 sfisay o o% wge 9 W strEETEE WS %
SEToT Tovd A = g9 am En i

[Question ID = 11804][Question Description = 109_08_Commerce_3_SEPT22_Q09]
1. K.W. Rothschild

%, Tawy duearsee

[Option ID = 17213]
2. (yert and March

97 T O

[Option ID = 17214]
3. Rohin Marris

[Option ID = 17215]
4. W.J. Baumol

e L
[Option ID = 17216]

10) Which one of the following is not the assumption for consumer behaviour based on the
cardinal utility approach?

TR YA I W AT St SAaEn % (o (e 8 | S0 | e 99 27
[Question ID = 11805][Question Description = 110_08_Commerce_3_SEPT22_Q10]
1. Maximization of satisfaction

it T FEE

[Option ID = 17217]
2. Utility cardinally measurahle

e § A9 A T9ati
[Option ID = 17218]

3. Diminishing marginal utility of money
gt i wrEm Hiere st

[Option ID = 17219]
4. Utility is additive

Tt A e A
[Option ID = 17220]
11) Which one of the following relationships regarding price elasticity coefficient with change in
price and change in total revenue is incorrect?
Fa 1 ofim T Fo TS 1 TiEd g9 F oeesed i F Wi TS F 59y § et § # 9
|1 waY e 8 7



[Question ID = 11806][Question Description = 111_08_Commerce_3_SEPT22_Q11]

Elasticity | Change in Change in
1 coefficient price total revnue
Increase Increase
e=0

Decrease Decrease

= Fme g %@ ToE |
‘ =% ‘ T

e=0

[Option ID = 17221]

Elasticity | Change in Change in
, coefficient price total revnue
. Increase Increase
ex>1
Decrease Decrease
e e g FETIET
=1 T4 o
€
wH T
[Option ID = 17222]
Elasticity | Change in Change in
coefficient price total revoue
3.
ol Increase No change
- Decrease No change
Gl #me 1§ %@ ToE g
1 1%
€= TE et
[Option ID = 17223]
Elasticity | Change in Change in
coefficient price total revoue
4.
ocd Increase Increase
Decrease Decrease
= Fa g & T o
T e e
| 7
<
o T 7

[Option ID = 17224]
12) In the case of two production-inputs, which one of the following iz not a property of Iscquants
(the production indifference curves)?
21 S & HEA 4] 5 T § § @A 30 725 T a0 A

[Question ID = 11807][Question Description = 112_08_Commerce_3_SEPT22_Q12]
1. Negative slope
FTH BT

[Option ID = 17225]
2. Concave to the point of origin

[Option ID = 17226]
3. Non-intersecting and non-tangential



H-wfoead o T-ToraEn

[Option ID = 17227]
4. Upper isoquants represent higher level of output

ST HHT T SR O (WEE) % =t = 91 Bl s 8
[Option ID = 17228]
13) A project requires an initial mvestment of X 56,120 and its estimated salvage value is

¥ 3.000. The annual estimated income after depreciation and tax for its entire life of 5 yvears
are ¥ 3375, ¥ 537537375, %9, 375and ¥ 11,375 respectively. Which one of the following is

its average rate of return?

Tt e & T 56,125 7. & WWIE AW 9 AT # 9 gEa wATeT e 5v9 3,000 5
2 779 =W R T 5 9 91 veEEa F T 9w 92 % e i WA wE 38 3.375°F, 5.376
% 7.375% 0,375 % =it 11,375 % 2 1 5 520 H Wiehe o A= = =B 7

[Question ID = 11808][Question Description = 113_08_Commerce_3_SEPT22_Q13]
1. 96.28%

[Option ID = 17229]
2. 124.74%

[Option ID = 17230]
3. 20.94%

[Option ID = 17231]
4. B0.88%

[Option ID = 17232]

14) In comparison to domestic equity investment, foreign equity investment would be preferred if
it offers in which of the following situations?

Friten 4 2 T ¥ aratelie s P & avn F faoeh S5ad Faw =51 wefss =i 7

[Question ID = 11809][Question Description = 114_08_Commerce_3_SEPT22_Q14]
1. Higher dividend yield and high rate of capital appreciation

[Option ID = 17233]
2. Lower dividend yisld and lower rate of capital appreciation

HEum T SR A f T

[Option ID = 17234]
3. Higher dividend vield and lower rate of eapital appreciation

[Option ID = 17235]
4. Lower dividend yield and high rate of capital appreciation

[Option ID = 17236]

15) The potential that a firm’s consolidated financial statements he affected as a result of changes
in exchange rates 1s called as:

e 5 f ofe & womes o afsm & oifes e Bl = woem =9 & gusTa
FEeTAT A

[Question ID = 11810][Question Description = 115_08_Commerce_3_SEPT22_Q15]
1. Transaction exposure

e wEe



[Option ID = 17237]

Economic exposure

AT e

[Option ID = 17238]
3. Translation exposure

2.

TEIET T

[Option ID = 17239]
4. Operating exposure

TEAEHE T
[Option ID = 17240]

16) Which one of the following is a method of converting a non-productive, inactive asset (ie.
receivable) into a productive asset (viz., cash) by selling receivables to a company that
specializes in their collection and administration?

STE R T § R T S S Sreedl 5 T W e, S wen (s wee )

AT WA (FE T9E) 7 a9t F4 9 9E5h B

[Question ID = 11811][Question Description = 116_08_Commerce_3_SEPT22_Q16]

1. Bills diseounting

o wg

[Option ID = 17241]
2. Underwriting

Hitme

[Option ID = 17242]
3. (Guarantesing

EiEniszul

[Option ID = 17243]
4. Factoring

[Option ID = 17244]
17) Which one of the following summary measures denotes the degree of lopsidedness i a
distribution?
TEETET 7 FE- TE-A f29 § 9EaeE 41 d4m [ 7 27

[Question ID = 11812][Question Description = 117_08_Commerce_3_SEPT22_Q17]
1. Measures of central tendency

S v Ty

[Option ID = 17245]
2. Measures of variation

[Option ID = 17246]
3. Measures of skewness

Ty & omg

[Option ID = 17247]
4. Measures of Kurtosis

FEAT-ATA 1 AT



[Option ID = 17248]

18) Which one of the following statements is true?

Brenfefias == 4 3 -9 = 78 27

[Question ID = 11813][Question Description = 118_08_Commerce_3_SEPT22_Q18]
1. The sum of absolute deviations measured from Median is the least

FTferR | Y T e e w1 9 o R
[Option ID = 17249]

If each value in a given series 1s multiplied by a constant; K the vananee of the new
series would be equal to the variance of the given series

afz § i g § wAw o e K go afte g 2 99 6 gge = g v gae
=T T

[Option ID = 17250]
3. The variance is the sguare of the value of the standard deviation divided by mean

we msw g faweg g fowen % o et 2

[Option ID = 17251]
4. Z-score value of X is the ratio between X divided by mean

K Z-THN 9 wen g e X % 5w AETE )

[Option ID = 17252]

19) Which one of the following statements is falsa?
Frafefas s 4 # F-m e 27

[Question ID = 11814][Question Description = 119_08_Commerce_3_SEPT22_Q19]
1. Regression coefficients are independent of change of origin but not of change of seale

R Fe-TiE T e F e P A Sy o § v © A
[Option ID = 17253]

Both the regression coefficients cannot assume a value (ignoring algebraic sign)
greater than one

T wiaE wE-TE WA Sl T f e R (Fehee e wem T R )
[Option ID = 17254]

Regression coefficient of the two variables may have different algebraic symbals for
real life situations

T AT FETE + arear e s % fe fre e whiw v a1

[Option ID = 17255]
4. Coefficient of correction is independent of the change of origin and scale of data

w7 TG W AR S5 % T it anEs i o § Ffas g 2
[Option ID = 17256]
20) Which one of the following measures of central tendency is not affected by the presence of
extreme values in the data of the distribution?
Fefatas 4 sh-9 5=\ 3§ 99 55 F 9=t § 99 (W) g9 f I § wes T
i 27

[Question ID = 11815][Question Description = 120_08_Commerce_3_SEPT22_Q20]
1. Arithmetic-average



[Option ID = 17257]
2. Geometric average

=EE At

[Option ID = 17258]
3. Positional average

T aftaE

[Option ID = 17259]
4. Harmonic average

e i e |

[Option ID = 17260]

21) Which one of the following is not an advantage in case of product-based departmentalization?
TG AT e i S s 5 8 S w5 o T AR A et

[Question ID = 11816][Question Description = 121_08_Commerce_3_SEPT22_Q21]
1. It leads to continuous and undivided attention to the product

[Option ID = 17261]
2. Requires less number of managerial personnel to be emploved

¥ SRS F SEUE S # Etad w1 # devaed 1541 2|

[Option ID = 17262]
3. It enables top management to compare the performances of different products

T T S yeEyE O ser w5 aeeer e e g W w2

[Option ID = 17263]
4. It motivates departmental head to improve his performance

S TR TS SR S S a5 o stfnfe w2 #
[Option ID = 17264]

22) Through which one of the following mfluences of workers participation in management
regarding ‘safety and welfare and work-related issues are resolved?

"R T w0 wE AAd Hum S ¥E9 § TEed § e S Wie % wum w5 et §
& T oo e e w29
[Question ID = 11817][Question Description = 122_08_Commerce_3_SEPT22_Q22]
1. Information sharing

AT AT A

[Option ID = 17265]
2. Bargaiming

i

[Option ID = 17266]
3. Consultation

s

[Option ID = 17267]
4. Co-determination

Te-faf

[Option ID = 17268]



23) Which one of the following is a determinant of Organisational Climate or Culture (0C)?

Fiferfia d & = =1 Freors uivdw @ sopfa (o) = Pl 27
[Question ID = 11818][Question Description = 123_08_Commerce_3_SEPT22_Q23]
1. Leadership style

7 Al

[Option ID = 17269]
2. Decision-making

EREERE

[Option ID = 17270]
3. Innovation and change

TavEd T e

[Option ID = 17271]
4. Trust

o
[Option ID = 17272]
24) Which one of the following tests measures the applicant’s capacity to learn the skill required
for a job?

Frafefan dftge 4 5 285 @ whew awes § = 3 amers e @ fes i gme = oo
T RT

[Question ID = 11819][Question Description = 124_08_Commerce_3_SEPT22_Q24]
1. Aptitude test

AT e

[Option ID = 17273]
2. Interest test

fipsts ahigm

[Option ID = 17274]
3. Intelligence test

afg wam

[Option ID = 17275]
4. Personality test

S TET

[Option ID = 17276]

25) What has been the primary motive of central banks raising interest rates in recent times?
T F T I e A g = i § oig e wn e e s s w3

[Question ID = 11820][Question Description = 125_08_Commerce_3_SEPT22_Q25]

1. Gaining competitivenes

weagior=ar s+

[Option ID = 17277]
2. Taming inflation

[Option ID = 17278]



3. Raising employment levels
TIETL T S Ta

[Option ID = 17279]
4. Currency depreciation

ol s

[Option ID = 17280]

26) Whach of the following products would require intensive modification in the international
arena’

Fretfertan 4 & fom vmm 3 fou wadisdia &9 F e worm 7 aarmeasmr ol 7

[Question ID = 11821][Question Description = 126_08_Commerce_3_SEPT22_Q26]
1. Tenms racket

[Option ID = 17281]
2. Cosmetics

TETES HEH

[Option ID = 17282]
3. Notebook computer

[Option ID = 17283]
4. Camera

e

[Option ID = 17284]

27) Banks are not required to deduct the TDS from depositors who have submited declaration in
which one of the following forms under the Income Tax Rule, 1962

waE Fram 1962 % aiafs, 9 % = el @ 4 § W w4 § wmmaen 99 gd e
et & & fom i w0 wgtoon wegm 1 27

[Question ID = 11822][Question Description = 127_08_Commerce_3_SEPT22_Q27]
1. Form 16(A)

w16 (1)

[Option ID = 17285]
2. Form 16(H)

w16 (T=)

[Option ID = 17286]
3. Form 15(G)

wid 16 ()

[Option ID = 17287]
4. Form 15(A)

w15 (1)

[Option ID = 17288]

28) The safety margin that insurers must maintain in order to protect the interest of the policy
holders is called -

i gl & TRl & T & Ter Al g AiAEE S R H g gg T A, 6w 2



[Question ID = 11823][Question Description = 128_08_Commerce_3_SEPT22_Q28]
1. Protection margin

TEE e

[Option ID = 17289]
2. Bglvency margin

[Option ID = 17290]
3. Profit margin

I 95

[Option ID = 17291]
4. Cost of risk bearing

[Option ID = 17292]

29) If the firms are competitive and profit maximizing the demand curve for labour 1=
determined by which one of the following?

gfe W aideagl # o =Y o ST % R, A1 g5 % o 4W S Meengd § 8 e w Rl
[Question ID = 11824][Question Description = 129_08_Commerce_3_SEPT22_Q29]
1. the opportunity cost of labour time

N TG o 23EET =

[Option ID = 17293]
2. the value of the marginal product of labour

58 = Hig 308 F I

[Option ID = 17294]
3. pffsetting income and substitution effects

[Option ID = 17295]
4. the value of the marginal product of capital

A % HHE I

[Option ID = 17296]

30) Which cne of the following is not coordinated in the horizontal integration of Integrated
Marketing Communications?

Lot o e B e i A B e e O 0 R T e e a1 e o

[Question ID = 11825][Question Description = 130_08_Commerce_3_SEPT22_Q30]
1. Packaging

e

[Option ID = 17297]
2. Customer Service

[Option ID = 17298]
3. Bales Promotion

foa Hog



[Option ID = 17299]
4. Distribution

o
[Option ID = 17300]

31) Which one of the following customers are risk averse, technology shy, and price sensitive?

[Question ID = 11826][Question Description = 131_08_Commerce_3_SEPT22_Q31]
1. Early adopters

[Option ID = 17301]
2. Early majority

[Option ID = 17302]

3. Late majority
TeEH| ST ST
[Option ID = 17303]

4. Lapgards

Tr=rdl (TresE)

[Option ID = 17304]

32) Which one of the following is an example of hybrid service offering?
Frifefia © & =t w1 w0 T wey (Fres gl w@ieion) =7 sgem A7

[Question ID = 11827][Question Description = 132_08_Commerce_3_SEPT22_Q32]
1. Consulting

ELEH

[Option ID = 17305]
2. Massage

CEIE]

[Option ID = 17306]
3. Restaurant meal

TR WA (e o)

[Option ID = 17307]
4. Car with a warranty

[Option ID = 17308]
33) Which is the most appropriate mode of entry in internationsal business to an enterprise with
little experience of International Market=?
FTT WAV F Y SN A AT T T SR Srar | A @ e 5 8 ae-a

[Question ID = 11828][Question Description = 133_08_Commerce_3_SEPT22_Q33]
1. Aequisition

AT



[Option ID = 17309]
2. Exporting

fata

[Option ID = 17310]
3. Strategic Alliance

[Option ID = 17311]
4. Joint Venture

HEFT T

[Option ID = 17312]

34) According to FEMA foreign exchange does not include which one of the following?
w1 % g faul Bl F Fetafae § F w9 o ove w6 e w27

[Question ID = 11829][Question Description = 134_08_Commerce_3_SEPT22_Q34]
1. Deposit pavable in any foreign currency

foreft forefl g o 2 =)

[Option ID = 17313]
2. Bills of exchange drawn in Indian curreney but pavable in any foreign currency

i Wy | sl wtes f gl ag o 2 R )

[Option ID = 17314]
3. Travellers cheques drawn by institutions outside India but payable in Indian currency

YT % HIE % HTE o el A 9% g v gy o o4

[Option ID = 17315]
4. Draft drawn by banks outside India and pavable in foreign currency

HAG & AR & A9 g SR o9 e Ou 5 5g =
[Option ID = 17316]

35) In which one of the following modes of entry into foreign markets risk and profit potential are
the highest?

forsl aran O wafs = fataray (9 =9 0 Fitey 25 o9 & 99e Saias w5 a7
[Question ID = 11830][Question Description = 135_08_Commerce_3_SEPT22_Q35]
1. Indirect exporting

g s

[Option ID = 17317]
2. Joint venture

777 3=H

[Option ID = 17318]
3. Direct investment

wery fE

[Option ID = 17319]
4. Direct exporting

g Fafe

[Option ID = 17320]



36) The Central Bank can significantly influence th savings. investments and consumer spending
in the economy through which one of the following pohicies?

S dn arfsaonn 7 Rofhias fee o S % w2 v, Rea ot Swies @ W aeE w9 E
TS T A 7

[Question ID = 11831][Question Description = 136_08_Commerce_3_SEPT22_Q36]

- Fiseal poliey

[Option ID = 17321]
2. Monetary policy

ifg i

[Option ID = 17322]
3. Industrial policy

[Option ID = 17323]
4. Foreign exchange poliey

S T T 5

[Option ID = 17324]

1

37) Residential status in Indian Income Tax Act is determined for which one of the following?
AT AR A F S Fam e e T e e e 2

[Question ID = 11832][Question Description = 137_08_Commerce_3_SEPT22_Q37]

1. Previous year

o =
[Option ID = 17325]
2. Assessment year

F- o =

[Option ID = 17326]
3. Accounting year

v

[Option ID = 17327]
4. Both previous and assessment vear

w w w-Futm =t o

[Option ID = 17328]

38) Which one of the following provident funds is set up under Provident Fund Act, 19527
Frfefian 4 # frm wfoe-ffy =1 oy sfrs-—Rfe sfafem 1952 % w=ia fen = 27

[Question ID = 11833][Question Description = 138_08_Commerce_3_SEPT22_Q38]
1. Statutory Provident Fund

Tttt gt

[Option ID = 17329]
2. Recognised Provident Fund

e n s R e A

[Option ID = 17330]
3. Public Provident Fund



A yaw-f

[Option ID = 17331]
4. Unrecognised Provident Fund

R e

[Option ID = 17332]

39) Which one of the following is the Net Annual Value (NAV) of house for the given details?

Municipal value =% 3,60,000
Fair Rental value =3 400000
Standard Rent =% 5.00,000
Actual Rent (Annual Rent) = 4 80.000
Municipal Tax =% 12,000 (due but not paid)
it i e 3 e = P e g P 8 S 27
T T O =% 3.60.000
St o g =% 400,000
o TR =% 5.00.000

areAtas feu (afds oar) =% 480,000

T T w= =% 12,000 (w5 % fomg wram 7 e o )

[Question ID = 11834][Question Description = 139_08_Commerce_3_SEPT22_Q39]

1. % 4,00.000

[Option ID = 17333]
2. ¥ 4.80.000

[Option ID = 17334]
3. % 4,68,000

[Option ID = 17335]
4. % 5,00.000

[Option ID = 17336]

40) Tax audit is compulsory in the caze of a person carrving on profession and whose gross

receipts exceeds which one of the following?

FeATETE w e saiad i 56 @ § we-w Wy afed g §, Tl v vt Peleles © 4

s atfas 2l 27

[Question ID = 11835][Question Description = 140_08_Commerce_3_SEPT22_Q40]

1. % 60 lakhs

% 60+

[Option ID = 17337]
2. % 1crore

T 15s

[Option ID = 17338]
3. ¥ 40 lakhs

T 40=m=

[Option ID = 17339]
4. ¥ 50 lakhs

% b0 =ra

[Option ID = 17340]



41) The most significant and widely-used country risk ratings in International Business Risks
are given by which of the following?
(A) Busimess Environment Hisk Intelligence (BERI) Index
(B) Eeconomist Intelligenes Unit (EIU) Indices
(C)y  National Cetre for Trade Information (NCTI)
(D) India Trade Promotion Organisation (ITPO)
(E) PRS Group's International Country: Risk Guide

Choose the correct answer from the options given below:

ARIEE =aEE AEE 8 Jaias SeeET 5 0 =9 9 9591 56 A 29 & e 12 Feiei
= e T 1 A e
(A)  =rEw TEY ey W (F 2 A ) =
(B) wfwsh s = (ot ) e
(C) =TT F B T w5 (W A 4 )
(D)  YTE T W ga (A A e
(B) 3w w wp e Sifem aoiitm
i fag T femredt d # wee v s @ = St
[Question ID = 11836][Question Description = 141_08_Commerce_3_SEPT22_Q41]
1. (AL (C) Only
Fa (A), ()

[Option ID = 17341]

2. (A), (B) and (E) Only
Fad (A), (B) =it (E)
[Option ID = 17342]

3. (A), (D) (E) Only

4 (A), (D), (E)

[Option ID = 17343]
4. (C), (D), (E) Only
== (0), (D), (E)

[Option ID = 17344]

42) Quotas which are the quantitative restrictions on exports/imports mtended at protecting local
industries and conserving foreign exchange, include which of the following?
(A) Single stage quota
(B) Abszolute quota
(C) Tariff quotas
(D) Value added guotas

(E})  Voluntary quotas

Choose the correct answer from the options given below:



T S S GREET AH) TeE G5 & WAV @ 3599 F (A4 / A gEdl AEeae Weedd e 5§
T H H 0w e R

(A) TS A FE

B) Fogwz
(€ e W
(D) = akE wa
(E) =fsswm

4= fon e fomedl | & = = W w9 ST
[Question ID = 11837][Question Description = 142_08_Commerce_3_SEPT22_Q42]
1. (B). (C); (E) Only
et (B), (C), (E)
[Option ID = 17345]
2. (&), (B), (C) Only
44 (A), (B), (©)
[Option ID = 17346]
3. (A), (D), (E) Only
FAe (A), (D), (E)
[Option ID = 17347]
4. (B), (C), (D), (E) Only
F9e (B), (C), (D), (E)
[Option ID = 17348]
43) Heckscher-Ohlin Theory of factor endowment suggests which of the following types of
relationships?

(A) Produetion — Marketing relationship
(B) Land— Labour relationship

(C)  Marketing — Capital relationships
(D}  Labour — Capital relationships-

(E)  Technological complexities

Choose the correct answer from the options given below:

L2 e P £ B e M e e e o1 e A = Pl Pt M e £ G o T P o P e e s e
27
(A) SyrE-TaTE ey

(B)  afE-um Hay
(€) Term-gsh 7=y
D) &I FEy

(E) i sfeemm
e fom o fomre F & wed SvdE I W I A

[Question ID = 11838][Question Description = 143_08_Commerce_3_SEPT22_Q43]
1. (&), (B) Only

F (A), (B)

[Option ID = 17349]
2. (B),(C) Only



w4 (B), (C)

[Option ID = 17350]
3. (B). (D). (E) Only

& (B), (D). (E)

[Option ID = 17351]
4. (A). (C). (E) Only

Fae (A), (C), (E)

[Option ID = 17352]

44) Which of the following statement{s) are correct?

(A)
(B)

©

(18]
(E)

(4)

®)

©

(D)
(E)

Asset liability manapement iz a mechanism to address the risk arising due to
mizmatch of assets and liahihities

Non-performing Assets (NPA) must be written off as loss in the finaneial year in which
INPA has been identified

Undisclosed reserves are ineluded in capital of banks (Tier II) if they represent
accumulation of post-tax profits

Bank cannot aceept deposits from the public for a period excesding five years
Hybrid debt capital instruments may be included in Tier II eapital

Choose the correct answer from the options given below:

Pretftias & & S92 $ua wd 27

oty cqa1 wed WHEE O 99 2, 9 SETdraE G Eda & 90| W w=H o 2

th-Foranfeg wfrerafal (wdie) 99 o ad d o9 3 59 0 522 @4 § Te 9 =ife, B
af F wd o f sgen F

gy Tt W 8 (ZEe-11) i = | wies e = 2, 90 3 s-vrme W $ wee
=7 St =04 £

% o= mt 9 it 1 @t % e 9 w8 W asa )

afirg F =t o =1 -1 6 F e S = w2 )

Hr fom o ol O @ v I W = Fan

[Question ID = 11839][Question Description = 144_08_Commerce_3_SEPT22_Q44]
1. (&), (C). (D) Only

& (4), (C), (D)

[Option ID = 17353]
2. (C), (D). (E) Only

7 (C), (D), (E)

[Option ID = 17354]
3. (B). (C), (D) Only

#9 (B), (C), (D)

[Option ID = 17355]

- (A), (C), (E) Only

#49 (A), (C), (E)

[Option ID = 17356]



45) Which of the following may be the reasons for a material usage variance?

{A) Negligence in the use of materials

(B} Chanpges in basic prices of materials

(€C)  Poor or improper machine handling

(D)  Wastage due to insfficient production methods

(E Change in product design requiring usuage different from the standard

Choose the correct answer from the options given below:
LR O B ek o P ) o B R s Tt e e T
(A) =l F T A e
(B) @TENF ATOR g1 H SE
(©) TR 7o SHEA 79 T
(D) e SeaTeA faat & w g
(E) == 8 o wam i ararasa @ 300G, SaEed © diEas
= Tou 7o fowedt @ § wE S # =9 it

[Question ID = 11840][Question Description = 145_08_Commerce_3_SEPT22_Q45]
1. (A), (B). (). (D) Only

Fae (A), (B), (C), (D)

[Option ID = 17357]
2. (B). (C), (D), (E) Only

#a4 (B), (C), (D), (B)
[Option ID = 17358]

3 (A), (C), (D), (E) Only

e (A), (0. D), B
[Option ID = 17359]

4. (A). (B). (D). (E) Only

wde (A), (B), (D), (E)
[Option ID = 17360]

46) Which of the following statements regarding -short-term theory of production and cost
analysis are trus?

(A)  Economic rent is the same as economic profit
(By  Imputed cost is the rent of hired building

(Cy  When AC=MC, AC is minimum

(D)  When MC i= vising. AC = MC

(E) Qutput is optimum when AC = MC

Choose the most appropriate answer from the options given below:
IeareR A W e # aematys Fgm s e d o i A s F e wd 2
(A) =il fpra aft s oy 541 = A EE 2
B) it s e R e e = R e R
(C) =9 AC=MC% & AC =370 7rar &

D) =9 MC = W& 29 AC>MC
(E) =9 AC=MC & o fawe sszan g 2

Fr for e et 78 w8 90 % wws e



[Question ID = 11841][Question Description = 146_08_Commerce_3_SEPT22_Q46]
1. (A), (D). (E) Only

w7 (A), (D), (E)
[Option ID = 17361]
2. {A), (C) (E) Only
a9 (A), (C), (B)

[Option ID = 17362]
3. (B), (C). (D) Only

Faa (B), (C), (D)

[Option ID = 17363]
4. (A), (B), (D). (E) Only

5,

#9+1 (A), (B), D), (E)
[Option ID = 17364]
47) Which of the following statements are false regarding price and output determination under
perfect competition?

(&)  Afirm is a price taker

(B) In the long run. a firm is in equilibrium when its AR = ME =TLAC =1TMC
(Cy A firm is in equilibrium in the short run only when its AC =AR =MR =MC
(D) A firm reaches its shut-down point when price poes below 1ts AC

(E) A firm fixes the price of its products when AR = MR

Choose the most appropriate answer from the options given below:
ool wfeewet & adffs o ot s dEuT F Faw § Refed S @ wE E wwE TeE 7

(&) e wfesse Siua wem w6 g o 2

(B)  Trdwre § wH Wi svAEE 4 7 § w9 39 AR =MR=LAC=LMC 7|

(C) = T ufrsm =7 AC = AR = MR = MC # 31 % a% ooty 3 fon sogmen § 2 2)
(D) == wivem =t o o ¥ 55 %= & FE7 9 94 E SeEmd = AC # 59 @ = 2
(E)  AR=MR 73 W %7 i 279 Seara) 1 S9d i s 2l

Ha fow e Towedi § 6 791 50 = v S

[Question ID = 11842][Question Description = 147_08_Commerce_3_SEPT22_Q47]
1 (A), @), (C) Only

F99 (A), (B), (C)

[Option ID = 17365]
2. (€), (M); (E) Only

33 (C), (D), (E)

[Option ID = 17366]
3. (B). (C), (D) Only

%9+ (B), (C), (D)

[Option ID = 17367]
4. (A), (E) Only

494 (A), (B)

[Option ID = 17368]



48) Which of the following affeet the pricing of a curreney option?
(A) Spot exchange rate
(B) Exercise rate
(C} Foreign risk-free rate of return
(D)  Domestic risk-adjusted rate
(E} Time to expiration

Choese the correct answer from the options given below:

A § F 9 e ge-ngen (FEa-Ren) = v e w2
(A) T B
(B) Tt =

(C) Tt ifan e sfowe o
(D) =i wifign wAmE
(E) 99+ & 999
4 fam o et 4§ w6 o W w5 A
[Question ID = 11843][Question Description = 148_08_Commerce_3_SEPT22_Q48]
- (B). (C), D), (E) Only
F= (B), (C), (D), (B)

[Option ID = 17369]
2. {A), (C). (D). (E) Only

59 (A), (0, (D), (E)
[Option ID = 17370]

3. (&), (B). (C), (E) Only
a9 (A), (B), (€. (B)
[Option ID = 17371]

4. (A), (B). (D). (E) Only
e (A), (B), (D), (B)

[Option ID = 17372]

49) A firm is exposed to translation loss if it uses current exchange rate to translate its assets
and liabiliies. Which among the following are methods in use in translating assets and
liahilities?

(4)  Current/Non-Current method

(B) Temporal method

(C)  Monetary/Non-monetary method

(D)  Current Rate method

(E) Transaction/Non-transaction method

Choose the correct answer from the options given below:



el Wi =1 ST 20 Jordl TSl R 905 9§ AT A R TEME F I9E & o =ene
fefmry a0 7 s s 21 anfi ot Tyaall % dawn F v weare ot i o £

(&) =t m-mmies A&

(B) e &g

(€ /- fafs

(D) el

(E) worasn | m-wsawr o

42 fou m et © @ 78 T = 9 Fifw

[Question ID = 11844][Question Description = 149_08_Commerce_3_SEPT22_Q49]
1. (A), (B). (D), (E) Only

=T (A), (B), (D), (E)

[Option ID = 17373]
2. (B), (Cy, (D), (E) Only

@ (B). (C), (D), (E)

[Option ID = 17374]
3. (A), (B). (C). (D) Only

et (A) (B), (C), (D)

[Option ID = 17375]
4. (C), (D). (E) Only

=@ (0), (D), (E)

[Option ID = 17376]

50) Whach of the following assumptions form the basis of the MM Hypothesis in stating
trrelevance of capital structure regarding weighted average cost of capital remaining

constant?

(&) Perfect capital markets

(B) Heterogenous risk class

(C)  Absence of taxes

(D)  Full dividend payout

(E) Same expectation of firm's EBIT with which to evaluate the value of a firm

Choose the correet answer from the options given below:

Fam T o S it e e E wR A I S E A 9 5 a5 0 0 e
7 Faw Tt 8 # a1 S i S

(&) o g A

(B) TavmE witEw

(€) Fum % 39S

(D) o

€ v &ids et d & af g fred vl = geee w2
4 fou e et | & o s Sa Fihaw

[Question ID = 11845][Question Description = 150_08_Commerce_3_SEPT22_Q50]
1. (B), (C), (D), (E) Only

F5 (B). (C), (D), (E)

[Option ID = 17377]
2. (A), (C). (D), (E) Only



a9 (A), (C). (D), (B)

[Option ID = 17378]
3. {A), (B). (C), (D) Only

Fae (4), (B), (C), (D)

[Option ID = 17379]
4. (A), (B), (D). (E) Only

Fm (A), (B), (D). (E)

[Option ID = 17380]

51) Which of the following are the complete experimental research designs?

(A) Factorial design

(B One group after-only design

(C)  Before-after design with one experiment and two control groups
(I} Latin square design

(E) One-group before-after desiogn

Choose the correct answer from the options given below:
fr=fates @ % =9 3 g0l st e wfhawe 2
(A) = AtEe
(B) ST & TEE U TR
(C) wF wam 3t 3 B wE o Eowe e
(D) s mam Afase
(E)  afoees q5-99=d TF 995
#= feu o fosent o 8 =8 59 = = it

[Question ID = 11846][Question Description = 151_08_Commerce_3_SEPT22_Q51]
1. (4), (C). (D) Only

=44 (&), (C), M)

[Option ID = 17381]
2. (A), (D}, (E) Only

39 (A), (D). (E)

[Option ID = 17382]
3. (B). (C), (D) Only

== (B), (C), (D)

[Option ID = 17383]
4. (B), (C), (E) Only

9 (B), (C), (E)

[Option ID = 17384]



52) Which of the following are the properties of normal distribution?

(A)  May be syvmmetrical or skewed

(B) Uni-modal. bell-shaped and symmetrical
(C)  Asymptotic to the x-axis

(D) 7 and pare the two parameters

(E) u and g are the two parameters

Choose the correct answer from the options given below:

Freafefas & & M s 91 % o #
(A)  =mfidm s v 7@ 7= )

(B) uw-yieew, daen ail auidy
(C) a9 % Tow aEofiE

D) n3tpe oEEre F

(E) n3ft o omges F

Hra feu o et & 9 w8 39w = Hifaw

[Question ID = 11847][Question Description = 152_08_Commerce_3_SEPT22_Q52]
1. (B), (D) Only

-

%a9 (B), (D)

[Option ID = 17385]
2. (B), (C). (E) Onlv

99 (B), (C). ()

[Option ID = 17386]
3. (A), (D) Only

Fa9 (A), (D)

[Option ID = 17387]
4. (A}, (C), (E) Only

59 (A), (C), (E)

[Option ID = 17388]

53) Which of the following samples are non-random or non-probability samples?
(A) Systematic sample
(B) Quota sample
(C)  Cluster or area sample
(D)  Purposive sample
(E}  Replipated sample

Choose the correct answer from the options given below:

Pretfofen 5 & 9 2 sfved Fe-arafos s e migam i 37

(A)  mufia wiee

(B) Fraary wh—wf

(C) wonet 3@ g9 wiae
(D) =iy o

(E)  ompa (fcese) wiagd
= fou e et § & ad s 99 fiew



[Question ID = 11848][Question Description = 153_08_Commerce_3_SEPT22_Q53]
1. (A), (C) Only

-

=ad (A), (C)

[Option ID = 17389]
2. (B}, (C), (D) Only

a9 (B), (C), (D)
[Option ID = 17390]
3. (A). (D), (E) Only
%4 (A), D), (E)

[Option ID = 17391]
4. (B), (D) Only

4 (B), (D)

[Option ID = 17392]

54) Which of the following common difficulties are faced in making decisions and implementing?

(A)  Non-actionable information

(B) Unsupperting environment

(C) Easy acceptance by subordinates
(D)  Ineffective communication

{E)  Incorrect timing

Choose the correct answer from the options given helow:

Tl o U mEIEn ad H e AT S S 9T S 9Ea 27

(A)  Th-zmEEd =

(B) st ofEw
(C)  afome g woa e
(D) e w

(E) o =qa-1 Fof =

d= fn o e 4 ® v I oW 5 S

[Question ID = 11849][Question Description = 154_08_Commerce_3_SEPT22_Q54]
1. (&), (B) Only

e (A), (B)

[Option ID = 17393]
2. (C). (D). (E) Only

& (C), (D), (E)

[Option ID = 17394]
3. (A), (B), (D), (E) Only

= (A), (B), (D), (E)

[Option ID = 17395]
4. (A), (B), (C), (D) Only

& (A), (B), (©), @)

[Option ID = 17396]



55) Which of the following economic identities measure degree of monopoly in an industry?

(A) Stackelberg model
(B) Concentration ratio
(C)  Diffusion index

(D)  Herfindahl index
(E) Elasticity reciprocal

Choose the most appropriate answer from the options given below:
T W - A ATIEI ] S § U aaE W Te w7 =i 7 7
(A)  HZawE qiEw
(B) Fazw S
(C) oo =
D) wrwsEs T=EE
(E) =i =mEA
42 fom e femett | ® gud 3w W 9 i

[Question ID = 11850][Question Description = 155_08_Commerce_3_SEPT22_Q55]
1. {A), (B) and (C) Only
Faw (A), (B) 3 (C)

[Option ID = 17397]
2. (B}, (C) and (D) Only

4+ (B), (C) 3it (D)

[Option ID = 17398]
3. {A) (C) and (E) Only

Fael (A), (C) 31 ()

[Option ID = 17399]
4. (B). (D) and (E) Only

Fad (B), (D) =t (E)

[Option ID = 17400]

56) Which of the following statements are true in case of delegation of authority?

(A) It slows down decision-making

(B} It leads to better decisions

(C) It relieves the manager of his heavy work load
(D) It helps ereate an informal organisation structure
(E) It helps train subordinates

Choose the correct answer from the options given below:
TN YETETe 65 § etetas O ® S8 8 e un A
(&) =z Ffm-ufEn = g = g
(B) v TeemET aEE e w2
(C) 7% vays & w1 Wil F9 % 919 § 39TFd =0 2l
(D) =57 F=IE A WA & g9 8 ga e B
(B) =g e = qEnes =6 @ 959 79 ¢
4=t fou T e 4 ® 9 I w9

[Question ID = 11851][Question Description = 156_08_Commerce_3_SEPT22_Q56]



1. (A), (D), (E) Only
5 (A), (D), (E)

[Option ID = 17401]
2. (A), (B). (C) Only

Fa (A), (B), (C)

[Option ID = 17402]
3. (B). (C). (E) Only

=4 (B), (C). (B)

[Option ID = 17403]
4. (B}, (C), (D). (E) Only

%9 (B), (C). D), (B)

[Option ID = 17404]

57) Which of the following measures inflation in ecosystem?

(A) Phillips curve

(B) Consumer Price Index
(Cy  Misery Index

(D)  GDP deflator

(E) Fisher effect

Choose the most appropriate answer from the options given helow:

Feteres 0 7 =t apfafimy d guofifs =1 a9 = 27

(A) Tl o=
(B) SwdlET FiUd TEEE
(C) i g
(D) # D& smrhiaErE

e fau 7 fomret o & we s9gw w0 W o Hif

[Question ID = 11852][Question Description = 157_08_Commerce_3_SEPT22_Q57]
1. {A), (B) and (E) Only

A (A), (B) 31 (E)

[Option ID = 17405]
2. (B),(C) and (D) Only

= (B), (C) it (D)

[Option ID = 17406]
3. (B), (C) and (E) Only

g4 (B), (C) 3 (E)

[Option ID = 17407]
4. (B)and (D) Only

o (B) 3(D)

[Option ID = 17408]



58) YWhich of the following are subsidiaries of REI?

(&)  National Housing Bank (NHE)

(B) National Bank for Agriculture and Rural Development (NABARTY

(C)  Export Import Bank (EXIM Bank)

(D) Deposit Insurance and Credit Guarantee Corporation of India (DICGC)
(E)  Bhartiya Reserve Bank Note Mudran Private Limited (BRENMFL)

Choose the correct answer from the options given below:
Rt £ & S % a0 o & e £
(A) T W ¥ (W )
(B) Tt wfE w o T A ()
(€ wrm Fafy 9% (FFm 3=)

(D) urE % e e o were i Fem (2 s o S )
(E) ‘owdre frsd 8% 9z gum wae fefine (36 am &t m = 4 =)

42 fou o freedt § & v s 9o il

[Question ID = 11853][Question Description = 158_08_Commerce_3_SEPT22_Q58]
1. (A), (B). (O), (D) Only

@9 (A), (B). (C), D)

[Option ID = 17409]
2. (A), (B). (D), (E) Only

Fae (A), (B), M), (E)

[Option ID = 17410]
3. (B). (C). (D). (E) Only

#8+ (B), (0), D), (E)

[Option ID = 17411]
4. (A), (C). (E) Only

=7 (A), (C), (E)

[Option ID = 17412]

59) Which of the following are three pillars of BASEL — II?

(A)  Minimum Capital Requirements
B Supervisory Review

(C) Leverage

(D)  Market Discipline

(E) Capital Conservation Buffer

Choose the correct answer from the options given below:
HHE-ll F T oo d e sm g i

(A) = o T

(B) e
(€) ==

D) == S

(E) oot wgm o

#r= o et 4 7 = = w fif

[Question ID = 11854][Question Description = 159_08_Commerce_3_SEPT22_Q59]



1. (A}, (C). (D) Only
a9 (A), (C), (D)

[Option ID = 17413]
2. (A), (D), (E) Only

99 (A), (D), (E)
[Option ID = 17414]
3. (A), (B). (D) Only
#ae (A), (B), (D)

[Option ID = 17415]
4. (B). (C). (E) Only

#e (B), (C), (E)
[Option ID = 17416]
60) Which of the following inputs are considered while deciding economic vahie-fo-customer
pricing?
(&) Buyer’s imapge of the product performance
(B) Warranty quality
(C)  Desired rate of return
(D)  Customer demand
(E) Customer support
Choose the correct answer from the options given below:
ET & Tom wids 5o e T e v v eienen 5 | fae B v aew I i
(&) ww s Fes s o
(B) e o
(C) =itea Ffawa =
(D) 7m® o
(E) 7% =1 s

= fom e e B = T e

[Question ID = 11855][Question Description = 160_08_Commerce_3_SEPT22_Q60]
1. (A), (B). (E) Only

#9 (A), (B), (E)

[Option ID = 17417]
2. (A), (C), (D) Only

Fad (A), (C), D)

[Option ID = 17418]
3. (B), (D), (E) Only

a4 (B), (D), (E)

[Option ID = 17419]
4. (A), (B). (C), (D) Only

5 (A), (B), (C). (D)

[Option ID = 17420]



61) Which of the following variables are considered relevant in behavioural segmentation of
consmmers’ ?

(&) Life style

(B)  Userstatus
(C) Oceasions

(D) Values

(E) Loyalty status

Choose the correct answer from the options given below:

ITTEAE & HERNS TN § Aeted 3 # = =0 1 5 g S a2 g

(&)  eedteh

(B) Wi =

(©) swEE

D) S-gm

(E) T & gy

4 fan 7 et § ® W I W T S

[Question ID = 11856][Question Description = 161_08_Commerce_3_SEPT22_Q61]
1. {A), (B). (C) Only

=4 (4), (B). (O)

[Option ID = 17421]
2. (A), (D). (E) Only

FaE (A), (D), (E)

[Option ID = 17422]
3. (B). (C), (E) Only

#ad (B), (C). (E)

[Option ID = 17423]
4. (A), (B). (E) Only

A (A), (B), (B)

[Option ID = 17424]

62) Which of the following are the tax categories under the GST?

A) 5%
® 10%
©  12%
(D)  20%
E  28%

Choose the correct answer from the options given below:

o w A % wds fetes § 9 B o W o bt o 27

Ay 8%
B  10%
© 12%
D)  20%
(E) 28%

#= fog e fowedt 8 79 5w v S

[Question ID = 11857][Question Description = 162_08_Commerce_3_SEPT22_Q62]



1. (A). (D). (E) Only

a9 (A), (D), (E)

[Option ID = 17425]
2. (B). (C). (D) Only

#aw (B), (O), (D)

[Option ID = 17426]
3. (A). (C). (E) Only

= (A), (C), (E)
[Option ID = 17427]
4. (B, (D), (E) Only
%5+ (B), (D), (E)

[Option ID = 17428]

63) Which of the following issues are addressed by the Information Technology Act. 20007
(A) Legal recognition of electronic documents
(B) Redressal of grievances
(<) Offenszes and contraventions
(D)  Disputes settlements
(E)  Justice dispensation system for cyber crimes

Choose the correct answer from the options given helow:

T S sfatE; 2000 | e 3 | T aE w een T i
(A) e SEEEl o e =

(B) T F7 Ferm

(C)  wwrg Hi Hvcras

(D) TEEmE-Fmm

(E) =E=i-3wy & o = oo
#r=t fom o et B wH I ow T e

[Question ID = 11858][Question Description = 163_08_Commerce_3_SEPT22_Q63]
- (A), (C). D) Only

A (A), (C). (D)

[Option ID = 17429]
2. (C), (D), (E) Only

Faw (C), (D), (E)

[Option ID = 17430]
3. (B). (D). (E) Only

F4 (B), (D), (B)

[Option ID = 17431]
4. (A). (C). (E) Only

o (A), (C), (E)

[Option ID = 17432]



64) Which of the following losses are allowed to be earried forward and set off in the subsequent
aszessment years?

(A) House property loss
(B)  Business loss

(C) Speculation lozs

(D)  Capital los=s

(E) Los= on aceount of owning and maintaining race horses
Choose the eorrect answer from the options given below:
IEE It R il R i it e i T o e B e 1 ol B e 1 i B o i
(A)  TEETE A
(B) mE=aw EhA
(C) =gr=tm we
(D) T EH
(E) =iz 7 975 & wnee @ T F R0 5 a3 w5
4 fou o et | B vl swew w9 g
[Question ID = 11859][Question Description = 164_08_Commerce_3_SEPT22_Q64]
1. (A), (B), (C), (D) Only
#99 (4), (B). (O), D)

[Option ID = 17433]
2. (B), (C). (D), (E) Only

%99 (B), (C). (D), (E)

[Option ID = 17434]
3. (A), (E) Only

Fad (A), ()
[Option ID = 17435]

4. (A). (B), (C). D). (B)
(&), (B), (C), (D), (E)

[Option ID = 17436]

65) According to the Stewardship Theory of Corporate Governance, which of the following
statements are relevant?
(A) Governance approach is sociological and psychological
(B) Behaviour pattern is trustworthy
(C) The role of management is to monitor and control
(D)  Owmers attitude is to take ricks
(E)  Interests of the managers and principals converge

Choose the most appropriate answer from the options given below:



Ffia we = ohadim fge ® aEn T Te-F v A 2

(&) A W R A A S g 2

(B)  waar = whiey fwamdy a2

(€C) wa= H gi e @ e == d 54 2

(D) wandft s eighs Aifee =e0 i 7 2

(B) wausl u gue % fed wovstey 7 2

e fon o ot & wed S0 S w9 Fif

[Question ID = 11860][Question Description = 165_08_Commerce_3_SEPT22_Q65]
1. {A), (D), (E) Only

F97 (A), (D). (E)

[Option ID = 17437]
2. (A), (B). (D). (E) Only

%99 (A), (B). D), (E)

[Option ID = 17438]
3. (B), (C). (D) Only

=4 (B), (C), (D)

[Option ID = 17439]
4. (A), (B), (C). D), (E)

(A), (B), (C), (D), (E)

[Option ID = 17440]

66) Match List I with List I1 -

ListI List IT
Type of Agreement Explanation

fA) NAMA (I}  Liberation of International Investments

(B) GATTs (I) Includes industrial goods, textile. jewellery, fish and
fisheries products and manufacturing industries

(C) TRIMs (IIT) Liberalisation of trade in goods and services

(D) TRIP= (IV) Providez monopoly power to ownerz of intellectual
property

Choose the correct answer from the options given below -

a1 % w11 fires i
-1 =11
(AY =M (I) =68 A Haut & =t 26 2
(B) A (II) 598 i 9oy, Zaezsa, =40, o0 v ot £ 50
(C) fm= (IIT) =7 =3 THE & =9E & 56|
D) = (IV) =% aifgF Jusl =rEe 1 THiaEr 559 37909 8
#= fop o fawet F | w9 w99 i

[Question ID = 11861][Question Description = 166_08_Commerce_3_SEPT22_Q66]
1. (A0, B-10). (C-IV), (D))

[Option ID = 17441]
2. (A)(IV), (B)-(II). (OIID, (D)-I)



[Option ID = 17442]
3. (A, @)A1, (OO, (D)-IV)

[Option ID = 17443]
4 (A, ®)-ID), (C-IV), (D)-I)

[Option ID = 17444]

67) Match List T with List I1 -

ListI Last IT
Accounting Standard Description
(A) Imd-AS:1 (I) Investments in Associates and Joint ventures
(B) Ind-AS:8 (II) Presentation of Financial Statements
(C) Ind—-AS:28 (III) Interim Financial Reporting
(D) Ind—AS:34 (IV) Aeccounting policies, changes in Accounting Estimates
and Errors

Choose the correct answer from the options given below -

-1 % g = =11 e i
1 1l
(&) Feuwm:1 () Hag i w77 320 | FEa
B) T=-uw: 8 (D) fad o = wegdrem
(C) wz-uwm: 28 (I atm fomfa fraifén
D) Te-uw . 34 V) s e, S A 3 e 4 e

Fr= fou o fomed 0 § 8 37 =1 =39 i

[Question ID = 11862][Question Description = 167_08_Commerce_3_SEPT22_Q67]
T {A-ID, (B)-IID, (©)-D, (D-IV)

[Option ID = 17445]
2. (A)ID), (B)-IV), (Cp@), (D)1

[Option ID = 17446]
3. (AMIID, (B)-(D). (O)-IV), (D)

[Option ID = 17447]
4. ()10, (B)-IV), (C-I), D)D)

[Option ID = 17448]

68) Match List I with List IT -

ListI ListIT
Shape of revenue curve of the firm Market structurs
(A) Kinked revenue-curve (I Monopohstic competition
(B) Infinitely elastic straight line curve (IT} Perfect competition
(C) Relatively lese elastic curve (11T} Olipopoly
(D) Relatively high elastic curve (IV) Monopoly

Choose the correct answer from the options given below -



-1 % 7w 5 -11 e it

-1 =11
wfiear & wm =% = A AT W
(A =AEEE 9vE () ol wioe
(B) ¥ W w3 T (@) o syt
(C) g = =4 (M) st
(D) FEEFd =9 == T (V) wfar
i fo o femet o & = st = 9 i

[Question ID = 11863][Question Description = 168_08_Commerce_3_SEPT22_Q68]
1 (AT, B)-ID, (C-IV), (DD
[Option ID = 17449]
2. (A)HIV), (B)-(ID). (C)-AD, [D}D
[Option ID = 17450]
3 (AD;  (B)-ID), (CHIV), (D)D)
[Option ID = 17451]
4. (A)-IID, (BIHIT), (C@, (D)-IV)

[Option ID = 17452]

69) Match List T with List IT -

ListI ListIT
Type of lease Description

(A) Levaraged lease (I} MAGx of operating and finance lease on full pavont basis
and provides for the purchase option to the lessee

(B) Direct lease (IT) Financing for servicing and fuel in the aireraft industry
(C) Wet lease (ITT) Protects lessee against the rate of obsolescence
(D) Update lease (IV) Involves lessor, lessee and financer, lessor provides equity

and major amount is provided hy the financer as loan
Choose the correct answer from the options given below -

.1 % " 5 11 frem ife
LS| =10
TZ w T femr
(A) SHite 73 M 9o HoE % Wun W g=eEE U GEe 97 # mEy dh e
Tz w #A F awed 39 T B
(B) =g 73 (I) @raam 3am & Far ot 393 % fom w9
(C) e w21 (II1) =5 wzrhal =7 399 o0 & S0 7l 2
(D) 39a 73 (V) =8 wzrerar woreal o faades wfis &9 2 ot oW =8
BT 2w wd wwaly By ot o0 3w % wy F s =l
i
#2 fon e Bt F B w8 swewr s Fife

[Question ID = 11864][Question Description = 169_08_Commerce_3_SEPT22_Q69]
T (A0, @I, (O, (D)-av)

[Option ID = 17453]

2. (A)-AV), (B)-d), (C-ID), (DI
[Option ID = 17454]

3. (A-ID. (B-IV), (CHD), ([D)-(III)
[Option ID = 17455]

4 (A)-IV). (B)-II). (O+D), @O-ID



[Option ID = 17456]

70) Match List I with List II -

(4)
®)
(©)
D)

ListI
Type of test
ANOVA Tast
Z—Test

Chi-sguare Test

Kruskal-Wallis Test

List T
Testing situation

(I} Testing whether a standard probability distribution
fits well to a given frequency distribution

(I} Parametric test to test the hvpothesis of differences
in more than two sample means

(IlT) Non-parametric test to test the hypothesis of
differences in more than two sample means

(IV) Hgypothesis testing for mean for large samples when
o 1s known or unknown

Choose the correct answer from the options given below -

TEI-1% 7 % 11 e e
=1
TEET FT T
(&) T TiEy (D
(B) Z-vigm (I
(C) wré-Taarar shge (1)
(D) wF-aas g IV}

get-I1

g gamd

wign == F T GEw somtEm 7 oo
=T 774 39T Fed & W T

7 waeet oregi & wfes § Freema  wesern % glgw
T AT aig)|

o whagal Al # s F frsmed B wewe 3 9iEw
4 TS e

o T wWa Hwa F @ d ge woew & fow e =
ST W

4= fo M e F @ w8 swow = Hifa

[Question ID = 11865][Question Description = 170_08_Commerce_3_SEPT22_Q70]

1. (A)-IV),

(B)~(III). (Cp(T). (In«II)

[Option ID = 17457]
2. (A)-d).  (B)-IV), (C)-dD). D))

[Option ID = 17458]
3. (ARD), (B)-IV), (C«D), (D))

[Option ID = 17459]

4 (A)-(II),

@)D, (C-AV), (DD

[Option ID = 17460]

71) DMatch

(4)
(B)
(€
)

List T with Tast IT :

ListI

Management siyle

Task Management
Country Club Management
Impoverished Management
Team Management

List I1

Approach
(I} Loveconguers all approach
(II) One plus one can add upto three approach
(ITT) Authority-cbhedience approach

{(IV) Speak no evil hear no evil see mno evil
approach

Choose the correct answer from the options given below -



-1 % w5 -1 e i

w1 1T
et Fel Eei]
(A = gEgA (1) ¥ At 39vm o fa=m o wa R
(B) w{Fea wauT (L) w= == "3 TEE A S
(C) I T (IIT) T 3gET 39
D) &= 7au (IV) 50 = %7, 57 7 T4, 90 5 @ 397
Hr fow . et o 2w = = it

[Question ID = 11866][Question Description = 171_08_Commerce_3_SEPT22_Q71]
T (AT (B)-IID, (OHIV), (DI

[Option ID = 17461]
2. (Ak@D), (B)-AV), (C-ID, (D)-(II)

[Option ID = 17462]
3. (A, B)-I) (OHIV), MID

[Option ID = 17463]
4. (A)-IID, B)-IV), (O, D)D)

[Option ID = 17464]

72) Match List I with List IT -

ListI List IT
fA) Appointmentof auditors by CAG (1) Section 138 (5)
(B) Qualifications and disqualifications of auditors (II) Section 141
(C) Powers and duties of auditors (III) Section 142
(D) Remuneration of auditors {IV) Section 143

Choose the correct answer from the options given below -

1% w w1 g=-11 e i

-1 11
(&) oo g e shas 6 i M = 138(5)
(B) = wivgest & areeme A Pl (1D = 141
(C) = Figs & wiFaal it wd (III) wma 142
(D) e Tig= =1 miEns (IV) & 143
= fon et § B v I o= T i

[Question ID = 11867][Question Description = 172_08_Commerce_3_SEPT22_Q72]
T (AID, (BIIL (OO, O)-Iv

[Option ID = 17465]
2. (A1), B, (©)-IV), (D))

[Option ID = 17466]
3. (ARD), (B)-AD, (CHIV), (D))

[Option ID = 17467]
4 (AxdD).  (B)-AI), (C)-ID, (D)<IV)

[Option ID = 17468]



73) Match List I with List I -

List I List IT
PLC Stapge Communication Strategy
{A) Introduction (I) Stress. brand differences and benefit= and encourage
brand switching
(B) Maturity (IT) Buld awareness and interest in the mass market
(C) Growth (III) Reduce to minimal level needed to retain customers
(D)  Decline {IV) Build product awareness and trial among dealers

Choose the correct answer from the options given below :

gE-1% 7@ =1 111 foere i

=1 -1

o um Hi - wwn T FEAE
(A) T (FEE) () =8 5w # ws F a1 AT yEEEE WA we @ A we

T = e e A

(B) ufrmEEa (1) =8 =7o d wgg e F w0 Sy et afimle see A 2
(C) =i (III) =7 =R 3 WEal F 9 70 A9 =208 =0 79 T8 7 A
(D) == (wEaE) (IV) = =00 | Tamsl & 959 3005 S=nml S WiE guga w2
9 Tou T faaet 8 § 981 290 97 =4 S

[Question ID = 11868][Question Description = 173_08_Commerce_3_SEPT22_Q73]
1. (A)-IV), (B)-(ID). (CO-). (D)-ID

[Option ID = 17469]
2. (AIV), (B, (01D, M-I

[Option ID = 17470]
3. (A)-ID, (BN, (C-IV). M-I

[Option ID = 17471]
4 (AL, (B-(IV), (C)D), (D))

[Option ID = 17472]

74)  Match List T with List IT -

List T List 1T
Mode/delivery Explanation
(A) Actual delivery (I} Seller hands over to the buyer the key of the
godown where the goods are stored
{B) Constructive delivery (IT) Physical handing over of the possession of goods
by the seller to the buyer
{C) Symbolic delivery (IIT) Voluntary transfer of possession of goods from
seller to buyer
(D) Delivery {IV) Acknowledgement by third person on behalf of and
at the disposal of the buyer

Choose the correct answer from the options given below :



-1 % g/ & =11 e i

= T 11
fafe fufmm ST
(A) =Tt afes @ T = & 39 Tgn & T4 @iy & 5w 9w S
Y g 2|
(B) =S diee (ID) Teskar g a1 =1 87 =1 Fe1 Hifvs &9 3 #ia =5m
(C) e HgH (1) st g st =1 e = =6 =1 Seus
D) e (AV) 3 # = # st www i g gEeT (3 =)
T T
Hi= fow  fawedt o @ = s o S i

[Question ID = 11869][Question Description = 174_08_Commerce_3_SEPT22_Q74]
T (A)-aV), @I, (C-II), (D)D)

[Option ID = 17473]
2. (A-ID. @®-IV), (O-@). (D)D)

[Option ID = 17474]
3. (A)IID, B)-d)1  (O-ID, D-IV)

[Option ID = 17475]
4 (Ax@,  (BiAI, (C-IV), (D)-III)

[Option ID = 17476]

75) Match List I with List IT-

List1 ListIT
Earnings — Valuation ratios Underlying Deseriptionis)
(A) Price - Earnings (P-E) ratio (I} Stock price divided by accounting net worth
(B) Earnigs Yield Ratio (ITy Firm’'s P/E ratio divided by an mdex P/E ratio
{€C) Price - Book (P/B) ratio (III) Stock price divided by the earmings per share
D) Relative P/E ratio (IV) Earnming per share divided by stock price

Choose the correct answer from the options given below :

=1 % 7 o =111 foem $ifsa
=11 T=-10
(A) dmA-TaT (9-3) s () o= e 57 g faartaq o % 90
(B) =54 W@ A (M) T T9aT® W1/3 o 50 @9sT 941 9 913
HA
(C) ma—=e (9/5) s (IIT). 377w Wi o790 290 30T fa9an A9 & 579
(D) =i o /E A29m (IV) =l & gra 301 (atam oA 5=
= fEu o et | 8 98w s it

[Question ID = 11870][Question Description = 175_08_Commerce_3_SEPT22_Q75]
1 (A-dD). B-aV). (©-D, (D))

[Option ID = 17477]
2. (A1) (B)-IV), (C)-(IID), @D)-()

[Option ID = 17478]
3. (AT, (B)-(ID), (CHIV), (D)D)

[Option ID = 17479]
4 (AL, (B)-IV), (OHD, (D)D)

[Option ID = 17480]



76) Arrange the following steps in the process of coneluding an export deal

(&) Confirm the export deal

(B) Receive letter of credit

(C)  Identify and negotiate with importer

(D) Receive an export order

(E) Examine thoroughly and ask for amendment

Choose the correct answer from the options given below -

et Tt % 3 ware < v & Pt 5o =) s5a@e a9 7 S

(&) Fefrdlzd o=

(B) =E-7 9T &0

(C)  smaras =7 foega w aml

(D) Tt wmes o %o

(E) ool Si= 67 S aune o ui w5

#rat Tou o fomed & & wd 55 = =9 i

[Question ID = 11871][Question Description = 176_08_Commerce_3_SEPT22_Q76]

1. (A), (C), (B, (D), (B)

[Option ID = 17481]
2. (C}, (A, (D), (E), (B)

[Option ID = 17482]
3. (B). (E). (A). (C). (D)

[Option ID = 17483]
4. (D). (A), (B}, (C). (E)

[Option ID = 17484]

77) Sequence correctly the following steps in PERT/CPM analysis:

(A) Identify the eritical path

iB) Draw the network diagram

() Establish dependencies across activities
(D) Estimate the completion time of an activity
(E) Define the activities in the network

Options -

i3 A At E i vm Tarey o e RES AT 0 SE e T it
A e A e

(B) =4 =Eam e

(C) =g SEeTal § T s e
(D) o5 FTEaT= T T =T I S

(E) SHETEN %1 T2ad | =nsgEd 97401

~

EEr i
[Question ID = 11872][Question Description = 177_08_Commerce_3_SEPT22_Q77]
1. (B), (C), (D), (E), (A)

[Option ID = 17485]
2. (E). (€). (B). (D). (A)

[Option ID = 17486]
3. (€. (By, (E). (A), (D)



[Option ID = 17487]
4. (A), (B), D). (E) (©

[Option ID = 17488]

78) Arrange the following processes in a proper sequence to conduct scientific research:

Y
®)
©
(D)
(E)

Induetion

Malking prediction
Observation of facts

Testing of prediction
Development of explanations

Choose the correct answer from the options given helow :

T Mg ¥4 J FerahEa el #1 98 A9Ee 5 Satead D

(A)

(B) =

(C) oAt = gem

(D) T = T ==

(E) oremst 1 e

#= ooy e O 2 v T w e i

[Question ID = 11873][Question Description = 178_08_Commerce_3_SEPT22_Q78]
1. (A), (B). (C), (E), (D)

[Option ID = 17489]
2. (C), (A). (E), (B). (D)

[Option ID = 17490]
3. (E). (A). (B). (C), (D)

[Option ID = 17491]
4. (4), (D), By, (C), (E)

[Option ID = 17492]

79)

Rearrange the staps followed in evaluating an investment proposal using NPV method -

(8)
(B)
©
D)
(E)

Caleulate the present value of eash flows
Identify an appropriate discount rate
Forecasting cash flows

Rank the projects as per NPV

Compute the net present value

Choose the correct answer from the options given below -

@ A wgfr T ER g e e e e A S e B ol 5 et

Hifem :

(A) TeE-uEE F FAUH Yo7 1 T

(B) =ETETs I H ey e

(€ % v H

@)  w e % aEEn it WS-t
(B) Faw winm e 7 i

#= fou o Tt F § v v w = i

[Question ID = 11874][Question Description = 179_08_Commerce_3_SEPT22_Q79]
1. (B}, (E), (A), @), (C)



[Option ID = 17493]
2. (A), B, (C), D) (E)

[Option ID = 17494]
3. (C). (B). (A). (B), (D)

[Option ID = 17495]
4. (D), (A, (C). (B), (E)

[Option ID = 17496]

80) Arrange the following pricing strategies and other practices as per the life-cycle of a new
product of which no close substitues are available.

(A) Gradual rise in price

(B)  Product improvement and market segmentation
(C) Gradual reduction in price to retain sales

(D)  Skimming pricing

(E) Large price cuts

Choose the correct answer from the options given below -
frerifen e Fufor sEitE ot sm et &1 9 weam 3 P o S F ST suErend
Fifem foms wfammem 9= 47 =
(&) g w9
(B) IFE T guR i AT wEeEs
(€ b wiewmm & fou e § =i =h
(D) Ty (fEe) Fmm Pt
(B) o g =2 w2
#rt fog o fawedt 4 @ wd sww 99 Fifaw
[Question ID = 11875][Question Description = 180_08_Commerce_3_SEPT22_Q80]
1. (D, (&), (B), (E). (C)
[Option ID = 17497]
2. (E), (C). {A). (B), (D)
[Option ID = 17498]
3. (B). (D). (C). (A}, (E)
[Option ID = 17499]
4. (D), (A), (B), (C), (E)

[Option ID = 17500]

81) Arrange the time spent m administration in the increasing order by the following personnel:
(A) Works Manager
B President
(C)  Foreman
(D) Board of Directors
(E) General Manager

Choose the eorrect answer from the options given below -



Freafefi =t oo s o s T w0 ¥ Aed T A O syafen iy

(A) = ¥

{B) =g

(©) we

D) = vEm

(E) wawews

4= fou T foEed 3§ =5E 90 W WA e

[Question ID = 11876][Question Description = 181_08_Commerce_3_SEPT22_Q81]
1. (C), (AL (E). (B). D)

[Option ID = 17501]
2. (D), (B), (E), (A) (O

[Option ID = 17502]
3. (D), (B), (B). (A), (C)

[Option ID = 17503]
4. (E (O (A), (D), B)

[Option ID = 17504]

82)

Arrange the following stages in successive ordsr of new product development process.

{A) Concept Development and Testing
(B)  Marketing Strategy Development
(C) Idea Sereening

(D} Product Development

(E) Test Marketing

Choose the correct answer from the options given below -

U IS % Tore whear % FefetEy = w5t W =0 § 5

(A) FFe foFm ="

(B) fam it = G

(C) fo=ml i 5=

D) 3w e

(E) Zmeamien

Hr= o o fomedl © ® =F I w1 =99 Fira

[Question ID = 11877][Question Description = 182_08_Commerce_3_SEPT22_Q82]
1. {A), (C). (D), (E), (B)

[Option ID = 17505]
2. (), (A). (B), (D), (B)

[Option ID = 17506]
3. (C). (A), (D), (E), (B)

[Option ID = 17507]
4. (A), (T), D), (B), (E)

[Option ID = 17508]



83) Arrange the following steps in a proper sequence to develop successful market offering:

{A) The specifics of the market offering
{B)  Monitoring goal progress

(C) The ultimate criterion for suceess

(D} The logisties of ereating the offering
(E) The value created in the target market

Choose the correct answer from the options given below -

THS SN WS oA w1 o T Hetatias S = ST #58 ° sy i
(A) =R voAE % fatime s

(B) e s a1 2EE

(C) T T =0 U

(D)  WLATE gom o HaT-d

(B) & 99w o gfsn g

gt fow o et § o udt s we Fifae .
[Question ID = 11878][Question Description = 183_08_Commerce_3_SEPT22_Q83]
1 (&), D), (EB). (C). B)

[Option ID = 17509]
2. {C), (E). (A). (B). (D)

[Option ID = 17510]
3. (D), (A (C), (E), (B)

[Option ID = 17511]
4. (C). (B, (A), (D), (B)

[Option ID = 17512]

84) Arrange the following in the winding up process of a company by tribunal in chronological
sequence from the first to the last.

(A) Settlement of list of contributories and application of asssts
(B) Submiszion of report by company liguidator

(C)  Petition for winding up
(D)  Direction of Tribunal on report of company liquidator
(E)  Appointment of company liguidator

Choose the correct answer from the options given below -

st g fareht St @ e § e W § A & SewEEAT st i
(&) e b 6 e = e oft sfeete = e

(C) iR = A=

D) e BRI v AR B

(B) = ¥ qhemmms i G

== o o fowed 4 | 29 39 = =9 Filen
[Question ID = 11879][Question Description = 184_08_Commerce_3_SEPT22_Q84]
1. (E), ). (A), (C), (D)

[Option ID = 17513]
2. (A), (E). (B). (C). D)

[Option ID = 17514]
3. (C), (E). (B), (D), (A)



[Option ID = 17515]
4. (B), (D). (C), (A). (E)

[Option ID = 17516]

85) Beguence the following steps to compute tax where there is agriculture income also.

(4)

(B)

©
(D)
(E)

Add agricultural income and non agricultural meome and calculate tax on aggregate
as if such aperegate income is the total income

Add agricultural income to the maximum exemption hmit available in the case of
assessee and compute tax on such amount as if it is total income

Deduct the amount of Income tax as computed (D) from the tax computed from (A)
Claim rebate u/s B7(A) if applicahle
Add surcharee if applicable along with the Heslth and Education cess @ 4%

Choose the correct answer from the options given below -

F AN & a0 FE | O (AR $ # R A A6 w6 e e e

(A) Fm AF A -FIEE A F A A A6 S FE W A7 e (qfeeem) T o
& 77 A 99= 30 5@ & =9 4 7|

(B) TM 9@ T AEa9H 97 52 9 T WEE T F IWE 35 G0 T 5 L A S 59 17 T
o1 " A

(C)  (A)F 9o 9= 5 (D) & 95 9o 9/ a7 57 109 52m

(D) = = = A wls 87(A) 1w 97 A T

(B) a7z 7ar=9 71 7 STauE | S S e 296§ 4% &) =0 | e wan a9 )

4 Tau o femreat | H =6 590 = =9 S

[Question ID = 11880][Question Description = 185_08_Commerce_3_SEPT22_Q85]
1. (B), (A) (C), (D), (E)

[Option ID = 17517]
2. (B). (&), D). (C). (B
[Option ID = 17518]
3. {A), (B). (D). (C), (E)

[Option ID = 17519]
4. (A1, (B), (©), @), (E)

[Option ID = 17520]

86) Given below are two statements - One islabelled as Assertion A and the other is labelled as
Reason R.

Assertion (A):  There 1s a change in the profit sharing ratio of the old partners when a new

partner gets his share of profit from all the partners

Reasons {R) - When a new partner is admitted into the partnership for a certain share of

profit, the combined sharas of the old partners will be reduced

In the lLight of the above statements. choose the most appropriate answer from the options
given below :



Fr= 3 #em fog T E - o afieeT (Assertion (A)) = ¥9 1 fuflas # @ @0 39= =7 (Reasons (R))

FE9T ;

Wi (A) - w8 e 1 fetgn ot e 2w e F = S v w0 € 9w e feEed
% G = A R T e A S w g

F1 (R) - w8 w1 7 s ¥ Hives T sEm e % fou esed A wew w2, ae owe
feeserd = wm T A = ff 2l

S e o e A, e fan e et § # wEd s S s g Fifan
[Question ID = 11881][Question Description = 186_08_Commerce_3_SEPT22_Q86]
1. Both (4) and (R) are correet and (R) is the correct explanation of (A)
(A) 3t R) == = E ol (R), (A) 1 79 = 2

[Option ID = 17521]
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(&) 3 (R) g = &, =t (R), (A) 1 =8 same = 2

[Option ID = 17522]
3. (A) is true but (R) is false

(A) = 2, s (R) 7é = 2

[Option ID = 17523]
4. (A) 1s false but (R) is true

(A) &1 =4 2, wfeT (R) 7 2
[Option ID = 17524]

87) Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A) - Every perfectly competitive firm in the long run earns normal profits only.

Reasons (R):  Market price gets fully adjusted, due to changes in the demand and the
supply conditions and the resultant free entry and exit of the firms in the
perfectly competitive market, so a= only the normal profit persists.

In the light of the above statements, choose the most appropriate answer from the options
given below :

et g e e e f ;s arfieee (Asserﬁon(r’&[!%ﬁﬁﬁl‘%ﬂ%ﬁ@m%m (Reasons (R))
FEI ;
g (A) : o] st o e ot wfeodl] s 5 SEe = e e w2

v (R) - w3t ofd i gt f ufteds F S e g oole: EnEitad 6 e 2 e me
o ey . Fren A # shrerl £ g (R SR a e a2
Towd S T @ # w9 2

S #HE % e 8, A for o el # wed suge S0 ww Fifa

[Question ID = 11882][Question Description = 187_08_Commerce_3_SEPT22_Q87]
1. Both (&) and (R) are correct and (R) is the correct explanation of (A)
(A) 3 (R) 7t wrt # adht (B, (A) 1 7 =

[Option ID = 17525]
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(A) 3 (R) o1 = &, =t (R), (A) i = =2 =4 2

[Option ID = 17526]



3.

{A) 1= cerrect but (R) 1s not correct

(&) = 2, = R) = =+ 2

[Option ID = 17527]

4. (A) is'not correct but (R) is correct

(&) = = 2, AfE (R) vl 3

[Option ID = 17528]

88) Given below are two statements :

Statement I Distribution channels are sets: of interdependent organizations
participating in the process of making a product available for
consumption

Statement II - All marketing channels have the potential for conflict and competition

resulting from goal incompatibility

In the light of the above statements, choose the correct answer from the options given below :

Fegwmfmmd:

Foa 1 ToFo oy w9 F (AU S ST FOH A WE] O 9T T AT e amiEd #e 5
A= A A

w01 :  wt oo grent § g #i wivest e fowE B 2 it e Sumae we i e o ae
= it e Bl 2

ST T % e 8, 9 fig e § § weE swrE I o 99 i .

[Question ID = 11883][Question Description = 188_08_Commerce_3_SEPT22_Q88]
1.

Both Btatement [ and Statement I1 are true
Fag Itk oo &

[Option ID = 17529]

2. Both Statement I and Statement II are false

Foa 1 ot 11 51 T 2

[Option ID = 17530]

3. Statement I is true but Statement II is false

ATt s M ame 2

[Option ID = 17531]

4. Statement I is false but Statement II is true

w7 | 7= 3, s v lla= 3

[Option ID = 17532]

89) Given below are two statéments - One is labelled as Assertion A and the other is lsbelled as
Reason R.

Assertion (A):  ‘Lien’ is the right to retain possession of goods and refuse to deliver them to
the buyer until the price due in respect of them is paid or tendered.

Reasons (R) - An unpaid seller in possession of goods sold 15 entiled to exercise his lien on
the goods where the goods have been =old without any stipulation as to
credit.

In the Light of the above statements, choose the most appropriate answer from the options
given below :



fr o s fow e : v e (Assertion () % wu § foifas # 1 970 38% =0 (Reasons (R))
HET
i (A) - ‘st B A EAE Nianm i S Sudh e o geree] e = e

= (R) - T T W e T AEen AT T T ST 5 WA S % TEeR R v
wiee % Frufon foen & are o= w0 A0

TqU F & e o, A9 fEn o feeed # 3 geR sumE I w = #ife

[Question ID = 11884][Question Description = 189_08_Commerce_3_SEPT22_Q89]
1. Both (&) and (R) are correct and (R) is the correct explanation of (A)

(&) ¥ ®) = = # ol (R), (A) 1 79 w2

[Option ID = 17533]
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(A) 3t R) g = &, =fem (B), (A) 1 =8 wmen = 2

[Option ID = 17534]
3. (A) iz correct but (R) is not correct

(&) = 2, S (R) w4 2

[Option ID = 17535]
4. (A) is'not correct but (R) is correct

(&) 7 =7 B, = (R) = 2

[Option ID = 17536]

90) Given below are two statemenits -

Statement I - Tax planning promotes proféssionalism and strengthens economic and
political situation of the country.

Statement II :  Tax evasion 1s an act within the permissible range of the Act to achieve
social and economir benefits.

In the light of the above statements, choose the correet answer from the options given below -

g wA i :
w1 w-Prrm sreElET W owad w2 ok Bn oo ok it @l oW
EzTif !

a7 [ : 77 S9a= ST A S S a6 e o o T st i s 1w ofe R
A T T T A

T T4 % e o, A fr e e £ # v T s v $hw

[Question ID = 11885][Question Description = 190_08_Commerce_3_SEPT22_Q90]

1. Both Statement [ and Statement IT are true

s Ik s g &

[Option ID = 17537]
2. Both Statement | and Statement Il are false

T [ it I 51 e 2

[Option ID = 17538]
3. Statement I is true but Statement I is false

w47 [ 9a 2, wife =a7 11 o 2



[Option ID = 17539]
4. Statement I is false but Statement IT is true

w47 1 3 &, o 4 e 3

[Option ID = 17540]

Topic:- 8_Commerce_Set1_B
1) Read the following paragraph and answer the five questions that follow :

The Cabinet approval for seven integrated mega textile and apparsl parks pan-India makes
eminent sense. It would boost value addition on-site, reaping economies of scale and scope,
reduce logistical and sourcing expenses, and generally step up sector-specific competitive
advantage across the board.

The value chain in yarn, fabries and ready-mades is seattered and quite fragmented nation-
wide. 3o, for instance, while cotton is grown in Gujrat and Maharashtra. spinning takes place
in Tamil Nadu, processing gets done in Rajasthan and Gujarat. and garment-making happens
mostly in the National Capital Region, Bengaluru and Kolkata. The proposed mega parks,
spread over 1,000 acre and more, would provide facilities for wesving, dyeing, printing,
fashion designing and garment-malking in one location. They would have core infrastructurs
such as incubation centre, plug-and-play facility, and skill development units so as to keep
abreast of the latest trends in textiles and apparel The export potential in textiles 1= larpe.
‘We need to build a conducive and innovative ecosystem with proactive policy.

The Centre has recently announced I 10,683 crore production-hnked incentive scheme for
textiles. The textiles parks scheme would have an outlay of ¥ 4,445 crore, and iz slated to
provide support for project development in the cluster mode. The recent move to provide
export-oriented units rebate on state and central taxes and levies would also help: But the
fact remains that the share of textiles in India's export basket has declined, and 1s now barely
in the double digits. A recent Crisil study says that absent free trade agreements (FTAs) hurt
our export performance. Decent work in the textile parks would gain custom, in todayv’s world.

it T #1 sEEE Tew A9 160 T W % S e
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HiT W B A =E § O A A S S - el e § Aagis wei
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Tom FEmm 72 e 9 B =9 vA 95 SR F w0 A A T 9 9 51 99§ Ae A e
H Tom T v A1 e (S | A wEee mewll| 9o I 38 7 [ 9 1 90 S 9 e A
T & AW g B AT 7E g2 5 A9 9 0 98 7| St g T w wnedn aeaas 9 seeng T @
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Which one of the following will not be a part of value chain in the proposed integrated mega
textile and apparel parks?

T T S dFEaEe A g W 4 Fefefed § # S avg =9 1 w9 6w e

[Question ID = 11886][Question Description = 191_08_Commerce_3_SEPT22_Q91]
1. Garment making

Fma-famtm



[Option ID = 17541]
© Yarn weaving

7 H

[Option ID = 17542]
3. Cotton production

FRAE Fogd

[Option ID = 17543]
4. Yarn spinning

oA T

[Option ID = 17544]

2) Read the following paragraph-and answer the five questions that follow :

The Cabinet approval for seven inteprated mepga textils and apparsl parks pan-India makes
eminent sense. It would boost value addition on-site, reaping economies of scale and scope,
reduce logistical and sourcing expenses, and generally step up sector-specific competitive
advantage across the beard.

The value chain 1n yarn, fabries and ready-mades 1s scattered and guite fragmented nation-
wide. So, for instance, while cotton is grown in Gujrat and Maharashtra, spinning takes place
in Tamil Nadu, processing gets done in Hajasthan and Gujarat, and garment-making happens
mostly 1in the National Capital Region, Bengaluru and Kolkata. The proposed mega parks,
spread over 1,000 acre and more, would provide facilities for weaving, dyeing, printing,
fashion designing and garment-malking in one lecation. They would have core infrastructure
such as incubation ecentre. plug-and-play facility, and skill development units so as to keep
abreast of the latest trends in textiles and apparel The export potential in textiles is larpe.
We need to build a conducive and innovative ecosystem with proactive policy.

The Centre has recently announced ¥ 10,683 crore production-linked incentive scheme for
textiles. The textiles parks scheme would have an outlay of ¥ 4,445 crore. and i1s slated to
provide support for project development in the cluster mode. The recent move to provide
export-oriented units rebate on state and central taxes and levies would also help: But the
fact remains that the share of textiles in India's export basket has declined, and is now barely
in the double digits. A recent Crisil study says that absent free trade agreements (FTAs) hurt
our export performance. Decent work in the textile parks would gain custom, in todayv's world

Pt e = s Ty o e T e F e g
T HEA A A TEgA 9% 35 T TRgE TG & 00 AEase 4 A 59 96 96GE 6 7| 56
B T A A = F FHE A S S T g - nheeE e 3 biegig w0

T, T AR EHE IUT T Y-S T Y A TN 59 AW FAege g@ien 2| @O, W F AN W,
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S T H we = 2 A a - w w e T e A, S s e 3w
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‘Which one of the following states does not contribute to Indian textile industry?
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[Question ID = 11887][Question Description = 192_08_Commerce_3_SEPT22_Q92]

1.

2.

3.

4.

West Bengal
=g 5
[Option ID = 17545]
Rajasthan
==

[Option ID = 17546]
Punjab

T

[Option ID = 17547]

Tamil Nadu

A

[Option ID = 17548]

3) Read the following paragraph and answer the five questions that follow :

The Cabinet approval for seven integrated mega textile and apparsl parks pan-India makes
eminent sense. It would boost value addition on-site, reaping economies of scale and =cope,
reduce logistical and sourcing expenses, and generally step up sector-specific competitive
advantage across the board.

The value chain in yarn, fabries and ready-mades 1s scattered and guite fragmented nation-
wide. So, for instance, while cotton 1= grown in Gujrat and Maharashtra. spinning takes place
in Tamil Nadu, processing gets done in Rajasthan and Gujarat. and garment-making happens
mostly in the National Capital Region, Bengaluru and Kolkata The proposed mega parks,
spread over 1,000 acre and more, would provide facilities for wesaving, dyeing, printing,
fashion designing and garment-making in one location. They would have core infrastructurs
such as incubation centre, plug-and-play facility, and skill development units se as to keep
abreast of the latest trends in textiles and apparel The export potential in textiles 1= large.
We need to build a conducive and innovative ecosystem with proactive policy.

The Centre has recently announced ¥ 10,683 crore production-hnked incentive scheme for
textiles. The textiles parks scheme would have an outlay of ¥ 4.445 crore. and is slated to
provide support for project development in the cluster mode. The recent move to provide
export-oriented units rebate on state and central taxes and levies would also help: But the
fact remains that the share of textiles in India's export basket has declined, and 1s now barely
in the double digits. A recent Crisil study says that absent free trade agreements (FTAs) hurt
our export performance. Decent work in the textile parks would gain custom, in todayv's world.
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Which one of the following will be the most critical to the export performance of Indian
textiles?

Wi e % Fats saea * fou Fefed § 8 5 @ o weites et 2
[Question ID = 11888][Question Description = 193_08_Commerce_3_SEPT22_Q93]
1. Integrated mega textile and apparel parks

[Option ID = 17549]
2. Free trade agreements

T SATI FAE

[Option ID = 17550]
3. Centres production linked incentive schemes

[Option ID = 17551]
4. Bebate on state and central taxes and levies to export-oriented units

Frafira il U= @ S Fow o g

[Option ID = 17552]



4) Read the following paragraph and answer the five questions that follow

The Cabinet approval for seven integrated mega textile and apparesl parks pan-India makes
eminent sense. It would boost value addition on-site, reaping economies of scale and scope,
reduce logistical and sourcing expenses, and generally step up sector-specific competitive
advantage across the beard.

The value chain 1 yarn, fabries and ready-mades 15 scattered and quite fragmented nation-
wide. So, for instance, while cotton is grown in Gujrat and Maharashtra, spinning takes place
in Tamil Nadu, processing gets done in Hajasthan and Gujarat, and garment-making happens
mostly in the National Capital Region, Bengaluru and Kolkata. The proposed mega parks,
spread over 1,000 scre and more, would provide facilities for weaving, dyeing, printing,
fashion designing and garment-malking in one lecation. They would have core infrastructure
such as incubation centre, plug-and-play facility. and skill development units so as to keep
abreast of the latest trends in textiles and apparel The export potential in textiles i= larpe.
We need to build a conducive and innovative ecosystem with proactive policy.

The Centre has recently announced ¥ 10,683 crore production-inked incentive scheme for
textiles. The textiles parks scheme would have an outlay of ¥ 4 445 crore, and is slated to
provide support for project development in the cluster mode. The recent move to provide
export-oriented units rebate on state and central taxes and levies would also help: But the
fact remains that the share of textiles in India's export basket has declined, and is now barely
in the double digits. A recent Crisil study says that absent free trade agreements (FTAs) hurt
our export performance. Decent work in the textile parks would gain custom, in todav’s world.
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Given below are two statements :

Statement [ - Both central and state governments want to promote the units exporting
textiles.
Statement IT : The performance of textiles in Indis’s export basket has improved.

In the light of the above statements. choose the correct answer from the options given below :
d= g Fes m o E

Fg= [ g wEn A T W S5 A aw e @ Hap S =R B
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[Question ID = 11889][Question Description = 194_08_Commerce_3_SEPT22_Q94]



Both Btatement [ and Statement I1 are true
Fg Ik e o &

[Option ID = 17553]
2. Both Statement I and Statement II are false

A 1 aftr 11 541 e 2

[Option ID = 17554]
3. Statement I is true but Statement I is false

AT e, A M ame 2

[Option ID = 17555]
4. Statement I is false but Statement II 1s true

w7 | 79 3, o wag [l9= 3

[Option ID = 17556]

5) Read the following paragraph and answer the five questions that follow :

The Cabinet approval for seven integrated mega textile and apparsl parks pan-India makes
eminent sense. It would boost value addition on-site, reaping economies of scale and =cope,
reduce logistical and sourcing expenses, and generally step up sector-specific competitive
advantage across the board.

The value chain i yarn, fabrics and ready-mades 1s scattered and quite fragmented nation-
wide. So, for instance, while cotton 1= grown in Gujrat and Maharashtra. spinning takes place
in Tamil Nadu, processing gets done in Rajasthan and Gujarat. and garment-making happens
mostly in the National Capital Region, Bengaluru and Kolkata The proposed mega parks,
spread over 1,000 acre and more, would provide facilities for wesaving, dyeing, printing,
fashion designing and garment-making in one location. They would have core infrastructurs
such as incubation centre, plug-and-play facility, and skill development units se as to keep
abreast of the latest trends in textiles and apparel The export potential in textiles 1= large.
We need to build a conducive and innovative ecosystem with proactive policy.

The Centre has recently announced ¥ 10,683 crore production-hnked incentive scheme for
textiles. The textiles parks scheme would have an outlay of ¥ 4,445 crore, and iz slated to
provide support for project development in the cluster mode. The recent move to provide
export-oriented units rebate on state and central taxes and levies would also help: But the
fact remains that the share of textiles in India's export basket has declined, and 1s now barely
in the double digits. A recent Crisil study says that absent free trade agreements (FTAs) hurt
our export performance. Decent work in the textile parks would gain custom, in todayv's world.
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R TER § S E 2 S s -EE W e weeme T TEaE AE, S S Sewa 3 w5
%1 1.000 vFz A wfaw @7 4 T 0w W e & Feessd UE A yEten # g, T, o,
T et A7 afeam e £ gfs soee =0 = 9§ 5 S 991 9EAS g, W U0
s (e B e el P e 7 e e e e Bl P e 2 e ol B e e | e i
?mwwmawmnmﬁﬁwmm?]ﬂwﬁm?mﬁww
e i e = R e e B s = e

T TEE 7 A A A W T T 10,683 9975 7. F1 TET 9 Hemg WS I 41 9o £
?| THEEE U SO0 § 4,445 S . 9 Ty 70 o0 3699 WA F Teg & T § g gen &
WWWWW%[WQWWTWRWW?TWWWTWJFW
L e e 1 e O e 1 B e I s W o e o e 1 B o U 1 el o 1
Eo e e B e = B = i B e R Bt I i = M 2 B vt o o s = 8 | R o O
= T =R FEE (U T A F S FEE FEm g B 2| 96 T 8 T, e g
HEEN T AgES g H HOEE § A



Given below are two statements : One is labelled as Assertion A and the other is Iabelled as
Reason R.

Assertion (4)-  Indian textiles can regain their sheen with the sstting up of integrated

mega textile and apparel parks.

Reasons (R) - The value chain in yarn, fabrics and ready-mades is scattered nation-wide.

In the light of the ahove statements, choose the most appropriate answer from the options
given below :

f= 7 s e £ ;o iR (Asserﬁon(ﬂ)}%ﬂﬁ‘ﬁ%ﬁ%?ﬁiﬁﬂﬁm (Reasons (R))
HETH ;

AR (A) T 9eR TS W T T S =T s ¥ weaey w59 s | e

# = WA O R

= (R) ¢ g, s A s s s RS g rnd b an d

U S % et 4, A fn e fawedt § # wae sugs S 99 Fiteg

[Question ID = 11890][Question Description = 195_08_Commerce_3_SEPT22_Q95]

1.

Both (4) and (R} are correct and (R) is the correct explanation of (A}
(4) it (R) 7 = # ol (R), (A) 1 77 w2

[Option ID = 17557]
- Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(&) 3t (R) 5= =8 &, == (R), (A) ¥ =8 =3 =6 2

[Option ID = 17558]
- (A) 1= correct but () 1= not correct

(A) = 2, = (R) 7 = 2

[Option ID = 17559]
- (A) i1z'not correct but (R) is correct

(A) =8 =7 B, A (R) 78 2

[Option ID = 17560]

Topic:- 8_Commerce_Set1_C

1)

ERead the following paragraph and answer the five questions that follow :

Section 455 of Indian Companies Act, 2013 talks about a New Provision Calls “DORMANT
COMPANY . This coneept was not there in Companies Act. 1956,

A Deormant Company offers excellent advantage to the promoters who want to hold an asset
or intellectual property under the corporate shield for its usape at a later stage. For instance:
if a promoter wants to buy lands now for its future project at a comparatively lesser price, he
may do the same through dormant company so that he can use the land for its future project.
Thus, dormant company status is a new phenomenon in the Companies Act 2013 and is an
excellent tool for keeping assets in the company for its future usage. A dormant company may
be either a public company or a private company or a one person cOMpany.

Certain companies, due to the nature of their businezs, may not be able to start any businesz,
for a long time from the date of incorporation as for instance any business for ereation of
intellectual property or for a future project and has no significant accounting transaction.
Such a company may be an “Inactive company . Construction Companies/Real Estate
Companies/Incorporate New Companies to hold land/properties for future projects. This
concept is beneficial for them By this comcept, they can Incorporate Company and purchase
property/land in that company and get status of Dormant Company. If a company gets status
of dormant company. there are less compliance in dormart company in comparizon of active
company. It will help to save cost of compliances for inactive companies.



1.

Eretem Tam 7 A afew ath fgw o v = e gt

qEATE T AtatEE, 2013 F1 977 455 § S 79 S99 01 50 B 99 WeRd dHAl 9 Bl 51 0 A
T AT 1956 § 3H AEEn w1 T T8 91| e T 3 I SR a6 3o o T
I R A FIERE wAE F A0 T e 91 Aited Sa 9 ST 99 TEh] T 2 SAE S5 e
STET | e AT WS SRS qOREAE T § AU w S W A S g & o e
e =wa = 1 9 ey s % wrem & vhy 91 w9 & W 9 9E giEe & e T oy W
IR 9E HE| T U, AT e w9t wiaean 2013 § Sieeran v e & W T S
T & WIH SHAT # AHEtE 91 39 31 U S | 2| i S A a1 e a9 w5 el
2 = T T B ST £ A U S e i 39 6T A 5 A

TP FAAET A f G w8 W T W a1 W F S S0 e, Sy
AigT A5 T T FEE T AT A9 G T F 0 S=eAE, WS 399 § 794 98 7 990 6
311 T FELF ES SE TEa T 95 B 2| 39 e 4 e i e womwh 2 e
&3 &1 T G-TUE & HEin S A9 e 31 9 GEErE 4 o YiE ®a 9T aed & e
T TR T T/ A S 51 E AT 55 TR MG S 9 53 e 97 99t Bl 3f fah
T AT AT AT T EA W 7AW BT AT T A G 8 Hwd a9 § = S 26

Which one of the following nature of business is suntable to & Dormant company?
Fresfiafiaa 1 & For e oqerems Fafn et 3 o v 31

[Question ID = 11891][Question Description = 196_08_Commerce_3_SEPT22_Q96]
Shipping business

TA-iEET e

[Option ID = 17561]

2. Manufacturing business

Tafamte sremm

[Option ID = 17562]

3. Real Estate business

=T Y H9E e

[Option ID = 17563]

4. Pharmaceutical busmess

[Option ID = 17564]

2) REead the following paragraph and answer the five questions that follow :

Section 455 of Indian Companies Act, 2013 tallks about a New Provision Calls “DORMANT

COMPANY . This concept was not there in Companies Act, 1956.

A Dormant Company offers excellent advantage to the promoters who want to hold an asset
or intellectual property under the corporate shield for its usage at a later stage. For instance:
if a promoter wants to buy lands now for its future project at a comparatively leszer price, he
may do the same throngh dormant company so that he can use the land for its future project.
Thus, dormant company status is a new phenomenon in the Companies Act 2013 and is an
excellent tool for keeping assefs in the company for its future usage. A dormant company may

be either a public company or a private company or 3 one person COMpPany.

Certain companies, due to the nature of their husiness. may not be able to start any business,
for & long time from the date of incorporation as for instance any business for creation of
intellectual property or for a future project and has no significant accounting transaction.
Such a company may be an “Inaetive company . Construction Companies/Heal Estate
Companies/Incorporate New Companies to hold land/properties for future projects. This
concept is beneficial for them By this comeept, they can Incorporate Company and purchase
property/land in that company and get status of Dormant Company. If a company gets status
of dormant company, there are less compliance in dormant company in comparizon of active

company. It will help to save cost of compliances for inactive companies.



Bl e w5 sargds ufew ot few v & s e .

qEAM T AT, 2013 F 9w 455 F U 99 T9EY 91 399 8 149 HreRd S o1 B 1 T 2
T AT 1956 § 3H AEEn w1 T T8 91| e T 3 I SR a6 3o o T
I R A FIERE wAE F A0 T e 91 Aited Sa 9 ST 99 TEh] T 2 SAE S5 e
=TEA 7| T A T TS GRS £ AN a9 S W A A JiE e
e =wa = 1 9 ey s % wrem & vhy 91 w9 & W 9 9E giEe & e T oy W
TEM 97 O 39 TEE, AT & T o= o s 2013 | SeehEn U UiES B oA w6
2 =7 T T B EE E A U =i & e =it 29 651w

TP FAAET A f G w8 W T W a1 W F S S0 e, Sy
AigT A5 T T FEE T AT A9 G T F 0 S=eAE, WS 399 § 794 98 7 990 6
311 T FELF ES SE TEa T 95 B 2| 39 e 4 e i e womwh 2 e
G E g -ETE  HEtn e ] ST o 5 G 4 0 Y S5O 9 39 & e
HirT FA1 2| T FIGE T (070 UEEE] 2| 35 SRR F 5 4 S S ] e 9w 54 8
T TR T T/ A S 51 E AT 55 TR MG S 9 53 e 97 99t Bl 3f fah
FAT F AT T E ZA W A 2 T TS e 5 A e § = S w6 R
Which of the following companies do not fall under a purview of Dormant company?

(A) Private company

(B One person company

(C) Limited and unlimited liability companies

(D)  Publi¢ company

(E)  Government company

Cheose the most appropriate answer from the options given below:
Frrfafas § @ = = s Bfee S 5 ofify J =8 e 20

Ay e

(B) U= mEe et s

(C) Fefirzs @ amferires zamn Fata=t

(D) =wEsFE g7 E Fw

(E) =l F

2 fi o ot 2 v s v Fi
[Question ID = 11892][Question Description = 197_08_Commerce_3_SEPT22_Q97]
1. (B, (D). (E) Only

= (B), (D), (E)

[Option ID = 17565]
2. (A), (), (D) Only

99 (A), (C), (D)

[Option ID = 17566]
3. {A), (B), (D) Ouly

e (A), (B), (D)

[Option ID = 17567]
4. (B). (C). (E) Only

@ (B), (C), (E)

[Option ID = 17568]



3)

Read the following paragraph and answer the five questions that follow:

Section 455 of Indian Companies Act, 2013 talks about a New Provision Calls "DORMANT
COMPANY". This coneept was not there in Companies Act. 1956,

A Dormant Company offers excellent advantage to the promoters who want to hold an asset
or intellectual property under the corporate shield for its usape at a later stage. For instanee:
if a promoter wants to buy lands now for its future project at a comparatively lesser price. he
may do the same throngh dormant company so that he can use the land for its future project.
Thus, dormant company status is a new phenomenon in the Companies Act 2013 and is an
excellent tool for keeping assets in the company for its future usage A dormant company may
be either a public company or a private company or & one person coMpany.

Certain companies, due to the nature of their business, may not be able to start any businesz,
for a long time from the date of incorporation as for instance any business for creation of
intellectual property or for a future project and has no significant accounting transaction.
Such a company may be an "Inactive company . Construction Companies/Real Estate
Companies/Incorporate New Companiez to hold land/properties for future projects. This
concept is beneficial for them By this comcept, they can Incorporate Company and purchase
property/land in that company and get status of Dormant Company. If a company gets status
of dormant company, there are less compliance in dormant company in comparison of active

company. It will help to save cost of compliances for inactive companies.

qreE S AATaEE, 2013 91 g 455 7 U 99 STEy 91 00 B T HieRg Sl S0 EE S E 2
T AratEE 1966 § 39 SR W I anl 97| FiAE S 0 5T SRR ] S o wE e
AT R A GIUEE FOE 4 AW 9E] THESE A7 Aisd S95 F g1 9% W TEE 5 sEE I El
a7 | IR AR e AN GO 9 § AUSGT O S 5 S Sl g & e e
e =R 2 A 5 Aty S % AT vhn Ot S 2 A 9 9 9 ¥ e Tw oy W
I 97 T 39 TEE, AT w9 W o 9 sitateay 2013 § steoign v TiEs B oS m S
R B E = TR o I i ) e =) e == [ 2 o L e v O = |

T FatE e §i T 5w T A W e 1 | F S 96 =mE, S
Ffgw T99 g9 7 HiET 9% HEEaE 99 AT TEa & 00 waaE, SEY 59 § 799 T8 A "9t B
ST =7 EAE W R NG EEA TS T B 2| 36 e a0 awd Tise gl wae 2] fmie
& F T -EaE F FEian T A1 S S 5 S & e g w5 Gii 9 F e
S T\ FO § wE /R E A 9T T £ AU 38 ST A S W 54 e 99 w9 ) 9hg
T AT A T W A W A O E W A T 9§ A T § S ST 5
IO TR IS ST & SO T A = w5

Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reaszon R

Assertion (A): Provision is made to obtain the status of a ‘dormant company for a
inactive company that doesn't trade.

Reasons (R) - Dormant company doesn’t trade but has significant accounting transaction.

In the hght of the above statements, choose the most appropriate answer from the options
given below -

4= o =2 e o 2 - w afiwee [':‘:sserﬁun{A)}?“GWﬁ%ﬁéﬂ%ﬁfiﬂﬂ%m{ﬂeuo& (RN
F=9d ;

A (A): st Fieea S % oo S smaw 2 e 3, i S w0 24 e 9 By ey

T 2
T (R) - Tafeag T =R A FA 7 W T A Wigw o T A A

SUiTE S % e O, e o e fawed § § wed g 9w wem A

[Question ID = 11893][Question Description = 198_08_Commerce_3_SEPT22_Q98]
1. Both (&) and (R) are correct and (R) is the correct explanation of (A)



4)

1.

(&) 3t (R) o = # 3t (R), (A) 1 w9 e 2

[Option ID = 17569]

- Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(&) 3t (R) 5= =8 &, == (R), (A) ¥ =8 =3 =6 2

[Option ID = 17570]

- (A) 1= correct but () 1= not correct

(A) = 2, = (R) 7 = 2

[Option ID = 17571]
(A) iznot correct but (R) is correct

(A) =8 =7 B, A (R) 78 2

[Option ID = 17572]

Read the following paragraph and answer the five questions that follow

Section 455 of Indian Companies Act, 2013 talks about a New Provision Calls "DORMANT
COMPANY". This coneept was not there in Companies Act. 1956.

A Dormant Company offers excellent advantage to the promoters who want to hold an asset
or intellectual property under the corporate shield for its usage at a later stage. For instanee:
if a promoter wants to buy lands now for its future project at a comparatively lesser price. he
may do the same through dormant company so that he can use the land for its future project.
Thus, dormant company status is a new phenomenon in the Companies Act 2013 and is an
excellent tool for keeping assets in the company for its future usage. A dormant company may
be either a public company or a private company or 3 one person CoMpany.

Certain companies, due to the nature of their business, may not be able to start any business,
for a long time from the date of incorporation as for instance any business for creation of
intellectual property or for a future project and has no significant aceounting transaction.
Surh a company may be an “Tnaetive company . Construction Companies/Real Estate
Companies/Incorporate New Companies to hold land/properties for future projects. This
concept 1= beneficial for them By this comecept, they can Incorporate Company and purchase
property/land in that company and get status of Dormant Company: If a company gets status
of dormant company, there are less compliance in dormant company in comparison of active

company. It will help to save cozt of compliances for inactive companies.

qEAE ST ATaEE, 2013 F1 gw 455 ¥ U 9 S0EY 91 o0 B T iR FEl @0 ' S E 2
T ATEEEE 1956 7 W SEan =1 3o TR J7| FiAE S 7 9 SR & 3 TS WA
AT R A FIUEE FOE & AW RS TEES A7 Sied S99 F 91 9 G UEH 3 e I F6 1
STed 7| e A FE TS GO 59 8§ AN O S W A e T & e e
e TR 2 7 57 iy wA % AT UhT 91 597 2 A0 98 9 9 % e 09 ym w
IOIRT 97 W 59 UEE, AT w9 5 9T stafaan 2013 § Steetan ne oaEs & s ' S
T T 9T TR A et 9T 9 @ U S 61 2| i A A s I w5
2 31 S S B Sl © A1 U S F S Jie S 61 A 56 A

T FAAAT O S R § T 5EE A WO e ) WEi o SR S0 s, S5y
g TSt T T AT 918 SHaeE WS g SeE F o srmEe, swy w9 8 wny 98 7 ae 1
T =9 A T AT S TETeE T 9F B B 5E R 40 wudl Hrmm g w2 e
&3 1 T S-S & FEm T 4 S 1 9 S e g me 9t el # e
L= e o 2 e B T i i 2 o Mo i o e et 1 0 o e 2 o e ) ot 1
T AT T S T A A E A S T A gee S e S 9 = e 5 R

Dormant company offers excellent advantage to which one of the following?
Bfsrr S 1 Feffes 79 78 3= o1y fen s a7

[Question ID = 11894][Question Description = 199_08_Commerce_3_SEPT22_Q99]
Bankers



o

[Option ID = 17573]
2. Creditors

T

[Option ID = 17574]
3. Bharshelders

I

[Option ID = 17575]
4. Promoters

wHatw

[Option ID = 17576]

5) Read the following paragraph and answer the five questions that follow:

Section 455 of Indian Companies Act, 2013 talks about a New Provision Calls "DORMANT
COMPANY". This coneept was not there in Companies Act. 1956.

A Dormant Company offers excellent advantage to the promoters who want to hold an asset
or intellectual property under the corporate shield for its usage at a later stage. For instanee:
if a promoter wants to buy lands now for its future project at a comparatively lesser price. he
may do the same through dormant company so that he can use the land for its future project.
Thus, dormant company status is a new phenomenon in the Companies Act 2013 and is an
excellent tool for keeping assets in the company for its future usage. A dormant company may
be either a public company or a private company or 3 one person CoMpany.

Certain companies, due to the nature of their business, may not be able to start any business,
for a long time from the date of incorporation as for instance any business for creation of
intellectual property or for a future project and has no significant aceounting transaction.
Surh a company may be an “Tnaetive company . Construction Companies/Real Estate
Companies/Incorporate New Companies to hold land/properties for future projects. This
concept 1= beneficial for them By this comecept, they can Incorporate Company and purchase
property/land in that company and get status of Dormant Company: If a company gets status
of dormant company, there are less compliance in dormant company in comparison of active

company. It will help to save cozt of compliances for inactive companies.

HEAR I ATaTE, 2013 F1 aw 455 F vF T TEg @ e B T R e S A 2
T ATEEEE 1956 7 W SEan =1 3o TR J7| FiAE S 7 9 SR & 3 TS WA
AT R A FIUEE FOE & AW RS TEES A7 Sied S99 F 91 9 G UEH 3 e I F6 1
STed 7| e A FE TS GO 59 8§ AN O S W A e T & e e
e TR 2 7 57 iy wA % AT UhT 91 597 2 A0 98 9 9 % e 09 ym w
IOIRT 97 W 59 UEE, AT w9 5 9T stafaan 2013 § Steetan ne oaEs & s ' S
T T 9T TR A et 9T 9 @ U S 61 2| i A A s I w5
2 31 S S B Sl © A1 U S F S Jie S 61 A 56 A

T FAAAT O S R § T 5EE A WO e ) WEi o SR S0 s, S5y
g TSt T T AT 918 SHaeE WS g SeE F o srmEe, swy w9 8 wny 98 7 ae 1
T =9 A T AT S TETeE T 9F B B 5E R 40 wudl Hrmm g w2 e
&3 1 T S-S & FEm T 4 S 1 9 S e g me 9t el # e
L= e o 2 e B T i i 2 o Mo i o e et 1 0 o e 2 o e ) ot 1
T AT T S T A A E A S T A gee S e S 9 = e 5 R




Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  If a company gets status of a dormant company, then it 1= subject to less
compliance in comparison {o active company.

Reasons (R) : Tt will help to save of compliances for Inactive companies when they become
dormant company under section 455 of the Companies Act, 2013 as
compared to the Companies Act, 1956.

In the light of the above statements, choose the most appropriate answer from the options
given below :

= 7 v feg e # : v e (Assertion (A)) % 9§ fofas # 91 790 5% #709 (Reasons (R))

Hilm'ﬁ

aftre (A): g feelt Sl = B S w0 ool od @ o 2 A 9 alee Sl B g d =
S 9B # e 2

07 (R) - 5 Howaeq (e F9FE @ waw S 95 6w @ S e, 1956 f
gern o St aftfm, 2013 # g, 455 % i fafies aaedl 9 =1 0w
CE Ll

T = % e O, F o e 4 1 wes sww I w9 i

[Question ID = 11895][Question Description = 200_08_Commerce_3_SEPT22_Q100]
1. Both (4) and (R) are correct and (R) is the correct explanation of (A}

(A) 3 (R) =i = # ait (R), (&) 9w s R

[Option ID = 17577]
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

) 3k ®) 3 w8 £, ofm B), (AR wh wmen T R

[Option ID = 17578]
3. (A) i=correct but (R) is not correct

(&) = 2, S (R) wh - 2

[Option ID = 17579]
4. (A) is'not correct but (R) is correet

(A) = = 8, A ®)wh

[Option ID = 17580]






